UGC NET 2021 Commerce 25N Shift 2

Topic:- Commerce_25NSH2_SHAAN_NOV21A

1
) FDI in Indian manufacturing has largely been

(1) Resource seeking (2) Efficiency seeking

(3) Market seeking (4 Export — oriented
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[Question ID = 1511][Question Description = Q01_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6041]

2. 2 [Option ID = 6042]
3. 3 [Option ID = 6043]
4. 4 [Option ID = 6044]

Correct Answer :-
e 1 [Option ID = 6041]

2) Qccasional sale of a commodity at a lower price abroad in order to unload an unforeseen and

temporary surplus of the commodity without reducing domestic prices is called :
(1) Persistent dumping (2) Predatory dumping

(3) Export subsidies (4) Sporadic dumping
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[Question ID = 1512][Question Description = Q02_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6045]

2. 2 [Option ID = 6046]
3. 3 [Option ID = 6047]
4. 4 [Option ID = 6048]

Correct Answer :-

e 1 [Option ID = 6045]

3)  Which of the following countries/territories is not a member of the WTO?
(1) China (2) Russia
(3) Iran

(4) Taiwan
f=Aferiga 9 @ F=-a1 291/ & fava = g1eT (WTO) F1 @20 48 27
(H  =. 2 ==

@ T (4)  dEaE

[Question ID = 1513][Question Description = Q03_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6049]



2. 2 [Option ID = 6050]
3. 3 [Option ID = 6051]
4. 4 [Option ID = 6052]
Correct Answer :-

e 1 [Option ID = 6049]

Which of the following entity has recently been negotiated to replace NAFTA with effect from
July 20207

(1) Quad group of countries
(2)  USMCA
(3) Shanghai cooperation organisation

(4) Trans Atlantic organisation
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[Question ID = 1514][Question Description = Q04_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6053]
2. 2 [Option ID = 6054]
3. 3 [Option ID = 6055]
4. 4 [Option ID = 6056]
Correct Answer :-

e 1 [Option ID = 6053]

5)  Amalgamation adjustment account is used for recording:

(1) Capital Reserve in the books of the transferee company
(2) General Reserve in the books of the transferee company
(3) Statutory Reserve in the books of the transferee company

(4) Revenue Reserve in the books of the transferee company
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[Question ID = 1515][Question Description = Q05_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6057]
2. 2 [Option ID = 6058]
3. 3 [Option ID = 6059]
4. 4 [Option ID = 6060]

Correct Answer :-
e 1 [Option ID = 6057]

The accounting standard AS3 (Revised) has become mandatory w.e.f. accounting periods

bheonmnine fram 01042007 far which of the fallawsine enternirica?



(1) Commercial, industrial and business reporting enterprises whose turnover for the

accounting period exceeds ¥ 50 crores.

(2) Enterprises whose debt or equity securitles are not listed on a recogmised stock

exchange.
(3) All enterprises whose turnover exceeds ¥ 2 crores.

(4 Only banking and insurance
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[Question ID = 1516][Question Description = Q06_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6061]
2. 2 [Option ID = 6062]
3. 3 [Option ID = 6063]
4. 4 [Option ID = 6064]

Correct Answer :-
e 1 [Option ID = 6061]

CCA method of inflation accounting is as a result of the recommendation of ?

(1) Wandilands Committee (2) Tandlelands Committee

(3 Sandilands Committee 4) Marrylands Committee
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[Question ID = 1517][Question Description = Q07_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6065]
2. 2 [Option ID = 6066]
3. 3 [Option ID = 6067]
4. 4 [Option ID = 6068]

Correct Answer :-
e 1 [Option ID = 6065]

The net profits of a partnership business, after providing for income tax for the last five
vears were: ¥ 80.000; ¥ 1.00,000; ¥ 1.20,000; ¥ 1.25.000 and ¥ 2,00.000. The capital

employed in the business 1s T 10,00,000 and the normal rate of return is 10%. The value of

goodwill on the basis of the annuity method; taking the present value of the annuity of Re 1
for b years at 10% 1s 3.7907 (approx); will be

(1) T 2,500 (approx) (2) T 79,225 (approx)
(3) T 94.770 (approx) (4) T 2.25.000 (approx)
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[Question ID = 1518][Question Description = Q08_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6069]
2. 2 [Option ID = 6070]
3. 3 [Option ID = 6071]
4. 4 [Option ID = 6072]

Correct Answer :-
e 1 [Option ID = 6069]

9)
The cross elasticity of demand between the complementary products is:
(1) Positive (2) Zero
(3) Negative (4) Infinite
(1) o @ =
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[Question ID = 1519][Question Description = Q09_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6073]
2. 2 [Option ID = 6074]
3. 3 [Option ID = 6075]
4. 4 [Option ID = 6076]

Correct Answer :-
e 1 [Option ID = 6073]

10) C . o .
Income effect of a price rise 1s greater than its substitution effect 1n case of:
(1) Inferior goods () Giffen goods
(3) Status symbol goods (4) Perishable goods
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[Question ID = 1520][Question Description = Q10_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6077]
2. 2 [Option ID = 6078]
3. 3 [Option ID = 6079]
4. 4 [Option ID = 6080]

Correct Answer :-
e 1 [Option ID = 6077]

11)
If the scale parameter (r) is greater than one (r >1) the CES production function exihibits:
(1) Decreasing returns to scale (2) Constant returns to scale
(3) Negative returns to scale (4) Increasing returns to scale
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[Question ID = 1521][Question Description = Q11_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6081]
2. 2 [Option ID = 6082]
3. 3 [Option ID = 6083]
4. 4 [Option ID = 6084]

Correct Answer :-
e 1 [Option ID = 6081]

12
) When demand is slack and market 1s competitive, firms follow which of the following pricing
methods?
(1) Penetration pricing (2) Peak load pricing
(3 Marginal cost pricing (4) Skimming pricing
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[Question ID = 1522][Question Description = Q12_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6085]
2. 2 [Option ID = 6086]
3. 3 [Option ID = 6087]
4. 4 [Option ID = 6088]

Correct Answer :-
e 1 [Option ID = 6085]

What 1= the value of a levered firm “L” if it has the same EBIT as an unlevered firm “T",
(With value of ¥ 700 lac). has a debt of T 200 lac. tax rate is 35% under MM approach?

(1) T 950 lac (2) T 630 lac

(3) T 770 lac 4 ¥ 525 lac
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[Question ID = 1523][Question Description = Q13_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6089]
2. 2 [Option ID = 6090]
3. 3 [Option ID = 6091]
4. 4 [Option ID = 6092]

Correct Answer :-
e 1 [Option ID = 6089]

1s a percentage discount rate used in capital investment appraisals which brings
the cost of a project and 1ts future cash inflows into equality.

(1) Accounting rate of return (2) Internal rate of return

(3) Profitability Index (4) Net present value
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[Question ID = 1524][Question Description = Q14_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6093]
2. 2 [Option ID = 6094]
3. 3 [Option ID = 6095]
4. 4 [Option ID = 6096]

Correct Answer :-
e 1 [Option ID = 6093]

15
) The theory which explains the effect of devaluation on balance of trade is known as:
(1) Phillips Curve theory (2) Mundell — Tobin Hypothesis
(3) J Curve Theory (4) K Curve Theory
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[Question ID = 1525][Question Description = Q15_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6097]
2. 2 [Option ID = 6098]
3. 3 [Option ID = 6099]
4. 4 [Option ID = 6100]

Correct Answer :-
e 1 [Option ID = 6097]

The annual demand for an item 1s 3.200 units. The unit cost 1s ¥ 6 and inventory carrving

charges 25% p.a. If the cost of one procurement is ¥ 150, determine number of orders per

year:
(1 3 2 4
(3) 6 (4 800

foreht =g it =1ff=+ 7 3200 T 2| T 1 AW 6 T B S HHA oS THE 25% TfEd 21 43 v
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(1) 3 (2) 4

(3) 6 (4) 800
[Question ID = 1526][Question Description = Q16_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6101]
2. 2 [Option ID = 6102]
3. 3 [Option ID = 6103]
4. 4 [Option ID = 6104]

Correct Answer :-
e 1 [Option ID = 6101]

If each value in a given set of data is divided by 4, how will it affect Karl Pearson's coefficient
of Skewness?

(1) It will reduce the value of co-efficient to one fourth

(2) It will increase the value of co-efficient to four times

(3) It will not affect the co-efficient of Skewness value

(4) Nothing can be said about the change
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[Question ID = 1527][Question Description = Q17_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6105]
2. 2 [Option ID = 6106]
3. 3 [Option ID = 6107]
4. 4 [Option ID = 6108]

Correct Answer :-

e 1 [Option ID = 6105]

A coin and pair of dice are tossed together, the total number of possible outcome for an
experiment is :
(1) 12 (2) 72

3) 36 @ 24
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(1) 12 @ 72

(3) 36 4 24

[Question ID = 1528][Question Description = Q18_Commerce_25NS2_SHAAN_NOV21]
1 [Option ID = 6109]
2 [Option ID = 6110]
3 [Option ID = 6111]
4 [Option ID = 6112]
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Correct Answer :-
e 1 [Option ID = 6109]

Each of the values of a series is decreased by K. Which of the following does not hold in the
context?

(1) The guartile deviation does not change.

(2) The co-efficient of quartile deviation remain unchanged.

(3) The lower and upper guartile values each increases by K.

(4) The guartile coefficient of dispersion rises.
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[Question ID = 1529][Question Description = Q19_Commerce_25NS2_SHAAN_NOV21]
1 [Option ID = 6113]
2 [Option ID = 6114]
. 3 [Option ID = 6115]
4 [Option ID = 6116]
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Correct Answer :-
e 1 [Option ID = 6113]

20)
For Binomial distribution with n =30, g =0.7. the mean and variance will be equal to:
(1)  2land V6.3 (2) 9 and 6.3
(3) 9 and 6.3 (4 21and 6.3
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[Question ID = 1530][Question Description = Q20_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6117]
2. 2 [Option ID = 6118]

3. 3 [Option ID = 6119]
4. 4 [Option ID = 6120]

Correct Answer :-
e 1 [Option ID = 6117]

A type of validity based on showing that scores on the test (Predictors) are related to job
performance is:

(1) Test validity (2) Criterion validity
(3) Content validity (4) Construct validity
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[Question ID = 1531][Question Description = Q21_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6121]
2. 2 [Option ID = 6122]
3. 3 [Option ID = 6123]
4. 4 [Option ID = 6124]

Correct Answer :-
e 1 [Option ID = 6121]

22 . . .. .
) Which among the following 1s not a characteristics of transactional leaders?

(1) Gives personal attention, treats each emplovee individually.
(2)  Abdicates responsibilities, avoid making decisions.
(3) Intervens only when standards are not met.

(4) Contracts exchange of rewards for efforts.
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[Question ID = 1532][Question Description = Q22_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6125]
2. 2 [Option ID = 6126]
3. 3 [Option ID = 6127]
4. 4 [Option ID = 6128]

Correct Answer :-



e 1 [Option ID = 6125]

23) Stretch goals that challenge people to achieve higher levels of success in current activities 1s
known as:
(1) Control stretch goals (2) Cluster stretch goals
(3) Vertical stretch goals (4) Horizontal stretch goals

ATt @5 1 A F AOAE TAEEE 3 SEEd F Ieaa =W F T R g o F, T A

FHE?
(1) fem e asT (2) oe faEa @5g
(3)  FeATER fommia = (4)  Efas faeiE =i

[Question ID = 1533][Question Description = Q23_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6129]
2. 2 [Option ID = 6130]
3. 3 [Option ID = 6131]
4. 4 [Option ID = 6132]

Correct Answer :-
e 1 [Option ID = 6129]

Usually in which one of the following performance appraisal technique. subjects
self — ratings are negatively correlated with their subsequent performance in an assessment

center?
(1)  Appraisal by subordinates (2) 360 — Degree feedback
(3) Self — ratings (4) Peer Appraisals
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[Question ID = 1534][Question Description = Q24_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6133]

2. 2 [Option ID = 6134]

3. 3 [Option ID = 6135]

4. 4 [Option ID = 6136]

Correct Answer :-

e 1 [Option ID = 6133]

Which one of the following statements 1s true about the risk considered for capital
requirements under Basel I1?

(1) Credit risk, interest rate risk and foreign exchange risk

(2) Credit risk. market risk and operational risk

(3) Credit risk, political risk and country risk

(4 Credit risk. interest rate risk and political risk
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[Question ID = 1535][Question Description = Q25_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6137]
2. 2 [Option ID = 6138]
3. 3 [Option ID = 6139]
4. 4 [Option ID = 6140]

Correct Answer :-
e 1 [Option ID = 6137]

26)
Which one of the following is not the characteristics of mutual funds?
(1) Consistent Investment process (2) Strong fund management
(3) Diversity in interest rates (4) Differences from the benchmark

(1)  =aa fae ufwn @ 7 B v
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[Question ID = 1536][Question Description = Q26_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6141]
2. 2 [Option ID = 6142]
3. 3 [Option ID = 6143]
4. 4 [Option ID = 6144]

Correct Answer :-
e 1 [Option ID = 6141]

27)

Which one of the following statements is false?

(1) Capital market 1s a market for medium and long term funds.

(2) GDR is a negotiable instrument 1ssued by a US bank.

(3) Many publicly listed companies in India trades their shares through Bombay stock
exchange or national stock exchange.

(4) Securities that are listed on various stock exchanges are eligible for being traded
there. are called listed securities.
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[Question ID = 1537][Question Description = Q27_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6145]
2. 2 [Option ID = 6146]
3. 3 [Option ID = 6147]
4. 4 [Option ID = 6148]

Correct Answer :-
e 1 [Option ID = 6145]

Whaich one of the followings 1s not the service provided under NBFCs?

(1) Leasing services (23] Implementing modernisation



(3) Asset management services (4) Mutual benefit finance services bank
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[Question ID = 1538][Question Description = Q28_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6149]
2. 2 [Option ID = 6150]
3. 3 [Option ID = 6151]
4. 4 [Option ID = 6152]

Correct Answer :-
e 1 [Option ID = 6149]

29)
Which of the followings can be categorised as information processing services?
(1) Legal services (2) Health care
(3) Education (4) Management consultancy
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[Question ID = 1539][Question Description = Q29_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6153]

2. 2 [Option ID = 6154]

3. 3 [Option ID = 6155]

4. 4 [Option ID = 6156]

Correct Answer :-

e 1 [Option ID = 6153]

Which of the following is not true about rural markets?

(1) Print media is not necessarily impactful in rural markets.

(2) Rural customer is price sensitive.

(3) No significant change may be required in the advertising copy.

(4) Products should be simpler, easy to use, service and maintain.
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[Question ID = 1540][Question Description = Q30_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6157]
2. 2 [Option ID = 6158]
3. 3 [Option ID = 6159]
4. 4 [Option ID = 6160]

Correct Answer :-

e 1 [Option ID = 6157]

Which of the following 1s not true for supply chain mangement approach?



(1) Joint reduction in channel inventories
(2) Large breadth of supplier base to increase competition and spread risk
(3) Risks and rewards are shared over long term

(4) Companies use intermodal transportation to reach to their markets

1 5 = F-F A -Een TH9H S F HEd ° FE A B

(1)  FF-F= ol | 5
(2) Wil v SiREn F Herd & o sy i gE
(3) = 3=ty § gy T Tiawe o SrEent

[Question ID = 1541][Question Description = Q31_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6161]
2. 2 [Option ID = 6162]
3. 3 [Option ID = 6163]
4. 4 [Option ID = 6164]

Correct Answer :-
e 1 [Option ID = 6161]

32) Which one of the following is true for consumers?
(1) Consumers are rational and think in a inear manner
(2) Culture and society have relationship to consumers’ thoughts and feelings
(3 Consumers can be motivated to believe and internalise messages the way the

marketer desires

(4) Consumers can explain their thought and behaviour
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[Question ID = 1542][Question Description = Q32_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6165]
2. 2 [Option ID = 6166]

3. 3 [Option ID = 6167]
4. 4 [Option ID = 6168]

Correct Answer :-
e 1 [Option ID = 6165]

The amount of penalty for making a false statement to the “Competition Commission™ by a
person who iz a party to a combination shall be between

(1) 20 lakhs to 50 lakhs (2) 50 lakhs to 1 crore
(3) 8 lakhs to 10 lakhs (4) 70 lakhs to 1 crore
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[Question ID = 1543][Question Description = Q33_Commerce_25NS2_SHAAN_NOV21]



1 [Option ID = 6169]
2 [Option ID = 6170]
3 [Option ID = 6171]
4 [Option ID = 6172]
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Correct Answer :-
e 1 [Option ID = 6169]

‘A’ Minor takes a loan of Rs.4.000/- from ‘B’ during his minority. on attaining majority. he
applies to ‘B’ for a further loan of Rs. 3,000/- ‘B’ zives this loan and obtains from ‘A’ a
combined promissory note of Rs.7.000/- for the two loans. This is considered as:

(1) Void Contract (2)  Valid Contract
(3) Illegal Contract (4) Unilateral Contract

HAawR A A TR % 2E B H %.4,000 =0 wdl 8| 99 54 W 98 B % uH %.3,000 #
At o oH % fou sEeE e 21 B TE W 2 ga 2 SR AT H SF1 RO 6 o0 5.7,000 1 5
THSAI-T3 =1 2 91 59 q9 FE

(1) =39 Ffa 2 Fg =fmE
(3) g HiEE (4)  THIHE Gl

[Question ID = 1544][Question Description = Q34_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6173]
2. 2 [Option ID = 6174]
3. 3 [Option ID = 6175]
4. 4 [Option ID = 6176]

Correct Answer :-
e 1 [Option ID = 6173]

35)
Which among the following essence of the information technology act 1s not a correct
statement?
(1) Legal Recognition of Electronic documents
(2) Any contract for the sale or conveyance of immovable property or any Interest in such
property
(3) Legal Recognition of Digital signatures
(4) Justice Dispensation system for cyber crimes

FrAferiiad 5 & g1 Soieri=l A= F1 FA-81 G, G B9 T8 2 7
(1)  seazie searEal i FEEl
(2) = HUM & fosa =1 IiEeA & foe =1 v guia o Afaeta & oo = ")

(3) Tefsesr swamemd it gl w=rmn

(4) HES TR F o0 = dEEeE @

[Question ID = 1545][Question Description = Q35_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6177]
2. 2 [Option ID = 6178]
3. 3 [Option ID = 6179]
4. 4 [Option ID = 6180]

Correct Answer :-
e 1 [Option ID = 6177]

36)
Which one of the followings 1s not included in the term “Work™ under copyright Act 19577
(1) A Cinematographic film (2)  Layout designs of integrated circuits
(3) A sound recording (4y A dramatic work
FHdATgz ATf=H, 1957 F HAad Ferteiaa 9 @ 5 = w9 afefem 725 e s e
(1) TamemiEs 5 (2)  =2USS Hihe = ©-HE2 TET

e TN o GOSN | ! R AN s e e o sl
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[Question ID = 1546][Question Description = Q36_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6181]
2. 2 [Option ID = 6182]
3. 3 [Option ID = 6183]
4. 4 [Option ID = 6184]

Correct Answer :-
e 1 [Option ID = 6181]

Tax audit 1s compulsory In case of a person In a profession whose gross receipts from the
profession exceed:

(1) Rs.1 crore (2) R=.40 lakh
(3) Rs.60 Lakh (4) Rs.50 Lakh

Iqf3 15 =afad U9 L TE &1, A U9 H Hehe Wl had | 208 B W W dHE STE w27

(1) ®.1°7%F0s (2) %40 @™
(3) %.60 =g (4 %50 W@

[Question ID = 1547][Question Description = Q37_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6185]

2. 2 [Option ID = 6186]
3. 3 [Option ID = 6187]
4. 4 [Option ID = 6188]

Correct Answer :-
e 1 [Option ID = 6185]

38
) Maximum tax-free limit for payment received under voluntary retirement scheme 1s:
(1) Rs. 4.00.000 (2)  Rs. 5.00.000
(3) Rs. 800,000 (4) Rs.10.00,000

wfea® TETHE I F ST T I & e Afawan g =
(1) Es. 4.00.000 (2) Rs. 5.00.000

(3) Es. 8.00.000 (4) Rs. 10.00,000

[Question ID = 1548][Question Description = Q38_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6189]

2. 2 [Option ID = 6190]
3. 3 [Option ID = 6191]
4. 4 [Option ID = 6192]

Correct Answer :-
e 1 [Option ID = 6189]

A 1s Resident in India aged 60 years earned agricultural income of Rs.5,00.000 and non-
agricultural income Rs.3.00,000 during the previous year 2019-20. What is tax libaility of A?

(1)  Rs.72.000 (2) Rs.72.100
(3) Rs.2,600 4 Nil

‘A’ rd F a2 S sw 60 99 2 o1t fo e a9 2019-20 § Ff¥ ¥ 219 %.5,00,000 3R R-FHE
T %.3,00,000 72| A’ T 1 T 27

(1)  %.72,000 (2  %.72,100

(3)  %.2,600 @ =

[Question ID = 1549][Question Description = Q39_Commerce_25NS2_SHAAN_NOV21]



1 [Option ID = 6193]
2 [Option ID = 6194]
3 [Option ID = 6195]
4 [Option ID = 6196]

A W N -

Correct Answer :-
e 1 [Option ID = 6193]

Any planning of tax which aims at reducing tax liability in legally recognised permissible

way can be termed as an instance of:

(1) Tax planning (2) Tax avoldance

(3) Tax evasion (4) Tax management

‘Fr2 T A T =EE € § AEa S99 0§ w0 E § FH o B R, S° FE

Td B
(1) = A (2) R 9ER
(8) H AT (4) T HEEA

[Question ID = 1550][Question Description = Q40_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6197]

2. 2 [Option ID = 6198]

3. 3 [Option ID = 6199]

4. 4 [Option ID = 6200]

Correct Answer :-

e 1 [Option ID = 6197]

41) Identify the principles of trade policy framework from the followings under the WTO:

(A) Reciprocity and transparent

(B) Benefactory and resilient

(C) Non-diseriminatory

(D) Binding and enforceable commitments

(E) Protective and benevolent

Choose the correct answer from the options given below:

(1)  (A). (B) and (C) only
(2)  (C). (D) and (E) only
(3)  (A). (C) and (D) only
(40 (B). (D) and (E) only

- d 5 Cell ST T bk [l . SRS SN -
(a9 =R T34 & HAd, FeenEd 9 H =R AT 2 EgEl ® Teee i

(A) eI Hi g

(B) Teawrl #n @=ien

[

(C)  wAfergsr

(D)  wEIFA AT TEAHE TEEEEA

(E)  =R&mmeRs AR feadi

1= fou U Toepeal 9 ® WA IO R 99 i

(1)  =ad (A). (B) # (C)



(2) = (C). (D) 3R (E)
(3) F=F (A). (C) = (D)
(4) === (B). (D) #n (E)

[Question ID = 1551][Question Description = Q41_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6201]
2. 2 [Option ID = 6202]
3. 3 [Option ID = 6203]
4. 4 [Option ID = 6204]

Correct Answer :-
e 1 [Option ID = 6201]

42)

The rights of the consumer as enunciated under section 6 of the consumer protection Act.

1986 includes:

(A) To be protected against the marketing of goods and services which are hazardous to
life and property

(B)  To be assured the competitive price and low cost quality products and services

(C) To be assured that consumers’ interests will service the due consideration at
appropriate forums

(D)  To be protected for multiple use of products, profits. diversity and equity.

(E)  To be informed about the quality. potency. purity and price of goods or service

Choose the correct answer from the options given below:

(1)  (A). (B) and (C) only

(2)  (B).(C) and (D) only

(3)  (C). (D) and (E) only

(4) (A). (C) and (E) only

ST HEO FATEH, 1986 1 9N 6 % FTAN IIHEAH F ATGEHR § e=ferigd wmine 7

(A)  UH I R T & fauvE % faeg T = e 3 gut % fo gyt 2

(B) TR o7 3 TAara oA 91 39UmET 31 T 6 Sar|

(C) == wwared % Susiwarsn & faai o ggf=a 7= W st=aa faam fFan smom|
(D) 3oz, =, fafau@ 3 T =+ a5 W Eg FE

(E) 3T @ Fanat i o, Al TE@ F qeF F AR § grad S

i fau U el | § 5E I %1 999 i

(1) = (A). (B) = (C)
(2) = (B). (C) = (D)
(3  F=e (C). (D) ¥ (E)
(4)  F= (A). (C) = (E)

[Question ID = 1552][Question Description = Q42_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6205]
2. 2 [Option ID = 6206]
3. 3 [Option ID = 6207]
4. 4 [Option ID = 6208]

Correct Answer :-
e 1 [Option ID = 6205]



43)
Which of the following events after the balance sheet date would normally qualify as

adjusting events according to AS-4 (Events after balance sheet date)?
(A) The insolvency of a customer on the balance sheet date

(B) A decline in the market value of investments

(C) The declaration of an ordinary dividend

(D) The determination of the cost of assets purchased before the balance sheet date

Choose the most appropriate answer from the options given below:

(1) (A (C) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only

(4) (A) and (D) only

qemT fafa & =g 1 Aefefiga § FE-d gz ame=a: AS-4 (GeFes fafa & ag =i gean) & sman

T HHETEE g2 ] A 7

(A)  geEwE i fafa w v s Hi e )
(B)  THawn = wem gew | FEree
(C) == =am =i =

(D) T A9 % 92 wid 72 gt A # e
= fou o fomeat § @ mEE TUgE SR R 95 FMAC

(1) =3+ (A), (C) #ir (D)

(2) A (A) 3 (B)

(3) === (B) 3 (C)

(4 A (A) 3T (D)
[Question ID = 1553][Question Description = Q43_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6209]
2. 2 [Option ID = 6210]

3. 3 [Option ID = 6211]
4. 4 [Option ID = 6212]

Correct Answer :-
e 1 [Option ID = 6209]

Management According information is used for which of the following distinctive purposes

(A) Measurement
(B) Control
(C)  Recording transactions

(D) Alternative choices

Choose the most appropriate answer from the options given below:



(1)  (A). (B) and (C) only
(2) (B).(C) and (D) only
(3 (A). (B), and (D) only

(4) (A) and (C) only
TS @A G R T e § @ wie-d fater 3eveE o fou we B v
(A) A9

? Bl

(B) EEER
(C) -1 1 ATaerg

(D)  dHieTH ==

Fi= fou o fashei 9 ® @E SR W == i

(1)  Fad (A), (B) #R (C)
(2)  Fa= (B). (C) =1 (D)
(3)  ==e (A). (B) =R (D)

(4)  Fa= (A) T (C)

[Question ID = 1554][Question Description = Q44_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6213]
2. 2 [Option ID = 6214]
3. 3 [Option ID = 6215]
4. 4 [Option ID = 6216]

Correct Answer :-
e 1 [Option ID = 6213]

43) A U-shaped long-run average cost curve 1s based on the assumptions that:
(A) Greater division of labour and specialisation accure to larger firms
(B) Minimum cost of production at various levels of output
(C) Economies of scale prevail at small levels of output
(D) It becomes more difficult to manage the firm effectively as it grows bigger
(E) Diseconomies of scale prevail at larger level of output
Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3)  (B). (). (D) and (E) only
(4) (A). (C). (D) and (E) only

(A) 79 = gEa fagr oiR e 9 w9 8 A 2

o .,
il =AY ot = S e T =T e e =T
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(C)  Toim = =g Tt W 9fwyeTF oy = 21
(D) HH % WS B 9N T SH THE @ ° TS AT A e w7 S 2

(E) T+ % gam & T qfmmmes e

419 20w el 6 ° w@E 39 =8 i

(1)  ==a (A), (B) 5 (C)

(2  F=d (B). (C) = (D)

(3)  F== (B). (C), (D) 3 (E)

4 F=9 (), (C), (D) 37 (E)
[Question ID = 1555][Question Description = Q45_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6217]
2. 2 [Option ID = 6218]

3. 3 [Option ID = 6219]
4. 4 [Option ID = 6220]

Correct Answer :-
e 1 [Option ID = 6217]

Identify the necessary conditions for price discrimination:

(A)  There should be imperfect competition in markets
(B) Markets must be separable
(C) Differentiated products and interdependence between firms

(D) Elasticity of demand must be different in different markets

Choose the most appropriate answer from the options given below:
(1)  (A). (B) and (C) only
(2)  (A). (C) and (D) only
(3) (B). (C) and (D) only

(49 (A). (B) and (D) only

(A)  =TEEl H g gfaeral 2T =Ee)
(B) ST gl B =@
(C)  Tavdd 3o =11 w0 & = wow )

(D) fatem a=m g 9w i == fe= = =)
Frt fou e faei 1 @ geE Suged I F =99 Fife

(1) &&= (A). (B) 377 (C)

(2)  Fad (A). (C) 51 (D)



(3) e (b). (L) AR (D)

(4) a4 (A). (B) ¥t (D)
[Question ID = 1556][Question Description = Q46_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6221]
2. 2 [Option ID = 6222]

3. 3 [Option ID = 6223]
4. 4 [Option ID = 6224]

Correct Answer :-
e 1 [Option ID = 6221]

Which of the following explains downward slope of an ordinary demand curve?

(A) Income effect of price change
(B) Substitution effect of price change
(C)  Utility Maximising behaviour of consumer

(D) Risk averse behaviour of consumer

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B). (C) and (D) only
(3)  (A). (B)and (C) only

(4)  (A). (C)and (D) only

FeAfefEa |5 § o= ama 57 9% 1 SHH 21 F T a2

(A)  goa UiEdd A T9E|

(B)  ©ed uitadA o1 Wi ueE|

(C)  3U9TF1 =1 IPAATAT =1 AfTFag sgH e ===

(D)  IUNHI =1 HI1E9 & 97 e =EE|

= 3w o foepet | | weE SUgEd A =E HA

(1) A (A) # (B)

@ = (B). (C) 7 (D)
3)  FF (A). (B) ¥R (O)
(4)  F= (A), (C) #R (D)

[Question ID = 1557][Question Description = Q47_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6225]
2. 2 [Option ID = 6226]
3. 3 [Option ID = 6227]
4. 4 [Option ID = 6228]

Correct Answer :-

e 1 [Option ID = 6225]

The reasons put forth for the control over the activities of the international banks are:



{(A) These banks encourage inflation by adding stock of money supply through credit

creation

(B) These banks some times are responsible for bank failures that mar the interest of the

depositors

(C) They cause unmanageable indebtedness among the barrowing governments by

charging high interest rates

(D)  They do not adhere to the credit allocation policy of the host government

Choose the most appropriate answer from the options given below:

(L @A), (B). (C) enly
(2) (A (C). (D) only
(3) (B). (C). (D) only

4 (A).B).(©). D)

STAZE bl % HEAHAT G A0 = B GG I

(A) ¥ o T FEi F mem 3 v Feh GEehd i weE o A

(B) o i i awE 4 Fefi-wi s fawet v o 2 fwn s w5 s g9 w2

(C) A =4 =41 3 oFITH SUTTHH] TRl 1 UMl SRUREGH] 4 STel 2d 7 fomehl sa=edr 721 =1 9id |

(D) = U SR i RO e A = 9 TR e 2

e fau o fashei | ° wew SUgEE IEE H =EA A

(1)  Fa= (A). (B). (O

(2)  F= (A), (C), (D)

(3 #= (B). (C), (D)

4 (A, B).(C), (D)
[Question ID = 1558][Question Description = Q48_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6229]
2. 2 [Option ID = 6230]

3. 3 [Option ID = 6231]
4. 4 [Option ID = 6232]

Correct Answer :-
e 1 [Option ID = 6229]

A new 1ssue debt or shares will invariably involve floatation costs in the form of:
(A) Legal fees

(B) Administrative expenses

(C) Brokerage

(D)  Underwriting

(E) Risk premium

Choose the most appropriate answer from the options given below:



(1) (A). (B), (D), (E) only
(2) (A), (C) only
(3) (A). (B). (C).(D) only

4 (A).®B).(C). D). (E)

Tt 70 =1 1 9w F Feig § fovae =g o & T § wad ST e w2t 2

(A) TaraF IF

(B)  wIEET @
(C) el

D)  HAfT

(E)  =ifigs tifyzs

= f2u o faseat § @ meE TugEd I R 99 A

(1) =9 (A). (B), (D). (B)
(2)  Fad (A), (C)
(3)  F99 (A), (B), (C). (D)

4 (A).(B).(C). (D). (E)

[Question ID = 1559][Question Description = Q49_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6233]
2. 2 [Option ID = 6234]
3. 3 [Option ID = 6235]
4. 4 [Option ID = 6236]

Correct Answer :-
e 1 [Option ID = 6233]

Which of the following are the reasons for raising funds via securitization?

(A)  To raise capital using non-conventional sources
(B)  To accelerate earnings for financial reporting purposes
(C)  To diversify funding resources

(D)  The potential for reducing funding cost

Choose the most appropriate answer from the options given below:

(1)  (A). (C). (D) only
(2)  (B).(C). (D) only
(3  (C). (D)only

(4 (A). B). D)only
Tfafaser & wreas ® HiEE S2E % w fefeiEd 8 " wE-w 27
(A) -l A\ g g geer



(C)  Tammm = guveEt =1 fafaedmm

(D)  Tauror AFE g A e
= f2u 0 fasent § @ geE I0gEd I R =94 HIA0

(1)  F== (A), (C), (D)
(2)  FF9 (B), (C), (D)
(3) = (C). (D)

(4)  Fad (A), (B), (D)
[Question ID = 1560][Question Description = Q50_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6237]
2. 2 [Option ID = 6238]

3. 3 [Option ID = 6239]
4. 4 [Option ID = 6240]

Correct Answer :-
e 1 [Option ID = 6237]

Non-sampling errors may arise because oft

(A)  Vague definitions used in data collection
(B) Defective method of data collection
(C) Incomplete coverage of the population

(D)  Wrong entry made in the questionnaire
(E) Only a part of the population is observed and expected to avold census study

Choose the most appropriate answer from the options given below:
(1)  (A). ®B).(C). (D) only
(2) (A). (C). (D). (E) only
(3)  (B).(C). (D). (E) only
4)  (A). ®B). (D). (E) only
T-ufd =99 Yoi HeAfeiiad § § 5 FEo 8 51 bl 8 7
(A) TR TRV § T AT i
(B)  aTrweT HEEW i gy fAig
(C) =it &l s1q0f &9 & Iiee o =
(D)  weg=h | i 7 A e

(E) M1 SA9E ° o=H % e gt = T2em =61 21 e f6n S 2 oA Teeht s =l S 2|
S f2u v fomeat 9 © He 3UgEd I 1 9AF i

(1) == (A), (B). (C), (D)

(2)  F=A (A), (O), (D), (E)

e B e R T = == i1
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4  F (A (B). (D). (EB)
[Question ID = 1561][Question Description = Q51_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6241]
2. 2 [Option ID = 6242]

3. 3 [Option ID = 6243]
4. 4 [Option ID = 6244]

Correct Answer :-
e 1 [Option ID = 6241]

Which of the following are the correct statements with regard to positive skewed

distribution?

(4) Mean>Median>Mode
(B) Mean<Median<Mode
(C) Q3;—Median<Median—Q,
(D)  Q3;—Median=Median—@Q,

(E) Mean=Median=Mod

Choose the correct answer from the options given below:

(1)  (A).(D)only

(2)  (A).(C) only

(3)  (B). (C). (D) only

4 (B). (C). (D). (E) only

g fa9g Taa & geg § Feiefiad § O -0 $99 g8 2 7
(A) AEHAE = AEH > T50F

(B) AEAN < AN < q50H

(©) Qe < =rfeash — @

(D) Qs —HIieHHI > AT+ — Q

(E) T\ = Al = 95096

I f2u T faeT § | wE I w9 A

(1) = @A), (D)

(2 FE @A) (O

(3)  #= (B), (C), (D)

4  Fa= ®B). (O). D). (E)

[Question ID = 1562][Question Description = Q52_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6245]
2. 2 [Option ID = 6246]
3. 3 [Option ID = 6247]
4. 4 [Option ID = 6248]

Correct Answer :-

& 1 [Option ID = 6245]

TTze of Factiz CGrotinze and ecollaboration tonle s 9 trainine neadz geepcament techniane haga
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the following disadvantages

(A) Time consuming or organlze

(B) Unuseful with complex or controversial 1ssues that one person may be unable or

unwilling to explore
(C) Questions cannot be modified to explore unanticipated issues

()  Group members provide only information they think you want to hear

Choose the most appropriate answer from the options given below:

(1) (A). (B) only
(2)  (B). (C) only
(3)  (A). (D)only
(4 (C). (D) only

wieEAn % oI AT geAiA aEAThl % B9 A HEE A HEATi I % A 6 et e
3.

o o.

(A) TS § SAaE TEE o 9

B) T @ faEErTE T R s=EET W d FE s A B oA 98 AHeg® A, % e

fa)

= :FFF‘TI"ﬂ

(C)  gEHAIE Tt = 1= & % fore oot § witads e = o 2

(D) THF % W Ao 9el AEER] T2 A 7 91 9 BEFd 7 06 5 5 g =
= fou U fomedl H § weE SUgET SO H =9EA AT

(1)  a (A) (B)
(2)  F= B) (C)
(3) &= (A). (D)
(4  Fa= (). (D)

[Question ID = 1563][Question Description = Q53_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6249]

2. 2 [Option ID = 6250]

3. 3 [Option ID = 6251]

4. 4 [Option ID = 6252]

Correct Answer :-

e 1 [Option ID = 6249]

Principles of management are important and useful on account of the following reasons:

(A)  To increase managerial efficiency
(B)  To attain social objectives

(C)  To train managers

(D) Toimprove research

(E) To coordinate material and human resources

Choose the most appropriate answer from the options given below:



(1) (A). (k) only

(2)  (B). (D) only

3y (B). (C), (D) only

@  @).®B) (C). (D). (E)

TS % figia FEfoiEa wEe E gEeaye SR e F
(A) TEEHE dEA F EEE

(B)  \THIS =7l 1 U A

(C)  vaa=hl =i T=iferm =

(D) Y § HEW

= fzu o fameat § @ TEw 0T ST R 99 A0

(1)  Fad (A), (B)
(2)  Fa9 (B). (D)
(3) =& (B), (C), (D)

(4w (A). B). (C). D). (B)

[Question ID = 1564][Question Description = Q54_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6253]

2. 2 [Option ID = 6254]

3. 3 [Option ID = 6255]

4. 4 [Option ID = 6256]

Correct Answer :-

e 1 [Option ID = 6253]

Which of the followings is not an approach to the structure of Indian Financial system?

(A) A brokerage can be either full service or discount

(B) The financial system is concerned about money. credit and finance, the three terms

are intimately related yet are some what different from each other
(C) Housing finance simply refers to providing finance for venture capital

(D)  Financial instruments may also be divided according to asset class, which depends on

whether they are debt-based or equity based

Choose the correct answer from the options given below:

(1) (A, (C) and (D) only
(2)  (B) and (D) only

(3) (C) only

(40 (A) and (C) only

frafafaa 8 @ FHA-m sovm A i 99 % 2= 3 mEtE 11 e

(A)  FEel quf FaT =T w7 w2

(B) @ 7 @9, FW R &9 " FEad 2; F 99 95 0% o ° 9 g T 5 W 3979

o



FHeMT—HAT & |
(C) adE o %1 gay TihEs 151 =% o o vem e 3 =2 2
(D) Toefra S =1 TRESTS o7 % SNYR W e e W 9Ea 2, 1 36 W AW A B A

- TATRA B A1 S aTiE|

A= f2u U e 5 | HE I S =59 FI0T

(1) = (A). (C) v (D)

(2) T (B) 317 (D)

(3)  Fad (C)

(9 FE9 (A) FE (O)
[Question ID = 1565][Question Description = Q55_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6257]
2. 2 [Option ID = 6258]

3. 3 [Option ID = 6259]
4. 4 [Option ID = 6260]

Correct Answer :-
e 1 [Option ID = 6257]

Which of the following statements is/are correct regarding application of data mining
techniques?

(A) Predicting future trends based on information available

(B) Electronic data interchange

(C)  Analysing demographic information about customers

(D)  Credit risk analysis

Choose the correct answer from the options given below:

(1) (B) and (D) only
(2) (4), (B), (C) and (D) only
(3) (A), (B) and (D) only

(4 (A). (C) and (D) only
I WS AR % AR T HEid FeiEs § § -8 2 5 A
(A)  IYETEd I & AU W NGl S we
(B)  zEmzitT SR A

f 228

(C) w1 SHIFHE o1 F1 favemm Fn

(D) T g favemm

= f2u T et 5 | mE 3w =9 Fire

(1) =aa (B) 7 (D)
(2) a4 (A), (B), (C) 3R (D)

(3) FF (A). (B) 31T (D)



(4 F= (A), (C) #r (D)
[Question ID = 1566][Question Description = Q56_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6261]
2. 2 [Option ID = 6262]

3. 3 [Option ID = 6263]
4. 4 [Option ID = 6264]

Correct Answer :-
e 1 [Option ID = 6261]

Skimming pricing strategy delivers results:

(A) When the size of the market 1= large and it 1s a growing market
(B) When the product is perceived as enhancing the customer’s status in society
(C)  When the firm uses it as an entry strategy

(D)  When the target market associates quality of the products with its price

Choose the most appropriate answer from the options given below:

(1) (A). (B) only
(2) (B). (D) only
(3) (B). (C) only

(4 (A (C). (D) only

TR (Tetts 3aRA aTel) gea-TAan FEHTE afemeeEE = 2|

(A) 99 9T9R 1 R 921 7] J0 S 895 w5 A

(B) =™ I091% W THTA ° WEF I URAE H agH ST 51 A6 7

(C) =™ wia=ar waw wHiA & 9 § 5 990 F4A1 7

(D) 9 @59 IEE 379 i TEET F Te 35 FEd O T F w2l

S Tou 7o fahedi # @ TEE SUgFE I H 9 A0

(1) == (A). (B)
(2)y = (B). (D)
(3) == (B). (C)

(4) = (A) (C) (D)

[Question ID = 1567][Question Description = Q57_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6265]
2. 2 [Option ID = 6266]
3. 3 [Option ID = 6267]
4. 4 [Option ID = 6268]

Correct Answer :-

e 1 [Option ID = 6265]

Requirements for effective market segmentation are:

(AY Arceazibhility



Ll

(B)  Differentiation
(C) Measurable
(D) Vioble

(E) Intensity in competition

Choose the most appropriate answer from the options given below:
(1)  (A). (B)only

2  (B). (C). (E) only

(3) (A (C). (D) only

4) (A, (C). (D). (E) only

gt |rs favadieon i sravgwan 3

A) i
B)  faidm
(C) A

(D)  =HEErE

(E)  wfeaifian <t e

fra1 fou o e § & wel avE I F1 =95 Hifau

(1)  %9e (A), B)

(2)  #4d (B). (O). (E)

(3)  #Fd (A), (C). (D)

(4  F9 A), (©). (D). (E)

[Question ID = 1568][Question Description = Q58_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6269]

2. 2 [Option ID = 6270]

3. 3 [Option ID = 6271]

4. 4 [Option ID = 6272]

Correct Answer :-

e 1 [Option ID = 6269]

Environmental characteristics/factors influencing distribution decisions are

(A) Government policy

(B) State of economy

(C) Social activistism

(D)  Technological and infrastructure developments

(E) Statutory provisions

Choose the most appropriate answer from the options given below:

(1)  (A). (D) only
(2)  (B).(C). (E) only
(3) (A (C). (D) only



4 (A).(®). (D). (E)only

feremon favfai ot wanferd @ arel el sifvesm /&m0 2
(A)  Fred Fifq

B)  wedsraren 6 g

(C)  amrfe wfspam

(D) serfireh v srferErEn faesms

(E)  aduifas wrawmd

Fr4 feu o foeedl H | HaH I9gF IH H1 F9EH Hifu

(1) == (A), (D)
(2)  wad (B). (C). (E)
(3) %= (A). (C). D)

4 %4 (A). B). D). (B)
[Question ID = 1569][Question Description = Q59_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6273]
2. 2 [Option ID = 6274]
3. 3 [Option ID = 6275]
4. 4 [Option ID = 6276]
Correct Answer :-

e 1 [Option ID = 6273]

60)
Which of the following statements are true regarding the objectives of Right to Information

Act? Indicate the correct code :

(A) To operationalise the fundamental right to information
(B) To set up system and mechaniams that facilitate people’s easy access to information
(C) To promote transparency and accountability in governance

(D) To minimize corruption and inefficlency in public offices and ensure people

participation in governance and desicion making

Choose the correct answer from the options given below:

(1)  (B). (C) and (D) only
(2)  (A). (B). (C) and (D) all
(3) (A, (B). and (C) only
(4)  (A). (B) and (D) only

frefefiga O #19-8 %o g1 &1 sAfemr sifafam & 32w & a9 § g0 27 981 F1g & =94 Hi)
(A)  HFA % Hiferh sHfermr Fi g He

(B) A wonferi @ &40 o1 £A1Yd 1 A HEA H HTE 99 ° R i 2

(C)  9mHA o grrefsiar 37 Saragl &1 dredfad

(D) =& SEEd U Y2ER d HEgal &l Fad s a9 wEE SR Foiga O @ 6 geiigr
Hiafraa &)



4 feu mu fawedi 4 9 9 3 #1991 Fifsw .

(1) %9« (B), (C) 3N (D)
(2) %4 (A). B). (C) 3 (D)
(3)  %ad (A), (B) 3 (O)
@) Fad A). (B) 31 (D)

[Question ID = 1570][Question Description = Q60_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6277]
2. 2 [Option ID = 6278]
3. 3 [Option ID = 6279]
4. 4 [Option ID = 6280]

Correct Answer :-
e 1 [Option ID = 6277]

Which of the following taxes have been replaced by the GST? Indicate the correct code :

(A) Central Excise duty

(B) Service tax

(C) Taxes on advertisements

(D)  Duties of Excize-Medicinal and toilet preparations

Choose the correct answer from the options given below:

(1) (A). (B), (D) only
(2) (A). (B) only
(3) (B). (C). (D) only

(4) (C). (D) only
it wm 4 g1 feietEe § | 5 w0 w0 afaenid o 27 o s g =1
(A) FHEE IEE TEE
(B) T
(C) T W =

(D) FEEISF TS 9 THEE 5T

Hr1 f5u 7o e | 9 H@El 39 999 FA0

(1) === (A). (B) 31T (D)
(2)  =FaE= (A) #F(B)
(3) = (B). (C) 277 (D)

(4)  FE= (C) 3R (D)

[Question ID = 1571][Question Description = Q61_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6281]
2. 2 [Option ID = 6282]
3. 3 [Option ID = 6283]
4. 4 [Option ID = 6284]



Correct Answer :-
e 1 [Option ID = 6281]

On which of the following grounds, the Tribunal may order for the winding—up- of a company
or a petition submitted to it. Indicate the correct code

(A) Passing of special resolution for the winding up

(B) Conducting affairs in a fraudulent manner

(C)  Reduction in membership

(D) Inability to pay debts

Choose the correct answer from the options given below:
(1) (A, (B) and (C) only

(2)  (A). (B) and (D) only

(3) (&) (B). (C) and (D) only

(4 (B). (C) and (D) only

il wea fohu o 93 & =iy Fefdfen O | @ snurl ® e s & agrE 1 osnen ¢
Hehdl 27 Wl @1 i Fifau)

(A)  =uH & feru favm e & aife Z1

(B) 92 i Ak d H "

(C)  Hewal 4 =4l

(D) =W Al 4

= feu o faepedi § | HEl I #1 == FifA

(1) %9 (A), B) 31 (O)
(2) &9 (A), B) 31 (D)
(3) & (A), B). (O) 31 (D)
(4 %4€ (B). (C) 3 (D)

[Question ID = 1572][Question Description = Q62_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6285]
2. 2 [Option ID = 6286]
3. 3 [Option ID = 6287]
4. 4 [Option ID = 6288]

Correct Answer :-
e 1 [Option ID = 6285]

Which of the following income is generally chargeable under the head of income from other
sources?

(A) Income from subletting house property

(B) Director fee

(C) Ground Rent

(D)  Agricultural Income from outside India

(E) Insurance commission

(F) Income from sale of securities

Choose the most appropriate answer from the options given below:



1 (A). ®B). D). (E) only

2 (B). (©). (D). (E). (F) only
(3) (A). (B). (C), (E). (F) only
4 (A). B). (C). (D). (E) only

frafefaa O sa-di 3= "ar=E: 5= gid 9 3™ Ug & 37 g9 27

(A) I8 {9 &I HA-cie HH H YT HE

B) e ek
(€ g farn
(D)  Wrd % =Tet | HfH &
(E)  fur sdism

@ ufagfaai & fasea 9 g s
= fou o foyeredi 0 9 wa) I9ga 39 %1 954 Fifa
(1) %44 (A), B). D). (B)
(2)  #4e (B). (C). (D). (E). (F)
(3)  #E (A). B). (C). (B). (F)
@)  FEE (A). B). (C). D). (E)
[Question ID = 1573][Question Description = Q63_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6289]
2. 2 [Option ID = 6290]
3. 3 [Option ID = 6291]
4. 4 [Option ID = 6292]
Correct Answer :-

e 1 [Option ID = 6289]

64)  Which of the followings are included in person under section 17(1)?

{A) A Hindu Undivided Family (HUF)
(B) A company

(C)  Afirm

(D) An individual

(E)  Alocal authority

(F) An assoclation of persons

Choose the most appropriate answer from the options given below:

(1)  (A).(C). (D). (F) only
2)  (C). (D). (E). (F) only
(3)  (B). (D). (E). (F) only
@ (A (B). (C). (D). (E) and (F)

g1 17(1) % avid Heiiefiad § ° T8 =afed o affed e sme 27
(A)  wfewita f23 wfem (HUF)

(B) =

(C) fo=m (wH)

(Dy =afFa



(E) Tari miasn
(F)  =gfaaai =1 59

= fou o fashedt § @ mEE T0gEa SR R I HiA0

(1) = (4), (C), (D), (F)
@  F= (O). (D). (B). (F)
(3)  F= (B), (D). (E). (F)
4) (A, (B). (C). (D). (B) = (F)

[Question ID = 1574][Question Description = Q64_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6293]

2. 2 [Option ID = 6294]

3. 3 [Option ID = 6295]

4. 4 [Option ID = 6296]

Correct Answer :-

e 1 [Option ID = 6293]

The exemption with respect to HRA is based upon the following factors?

(A) Rent paid

(B) Place of Residence
(C) Salary

(D) HEA Received

(E) Fair Rent

(F) Market Rent

Choose the most appropriate answer from the options given below:

(1 (A). B). (C). (D) only
(2) (A, (©). D). (F) only
(3) (A B). (C). (F) only
(4 (A). B). (E). (F) only

gepH ferrn e 4 e Fefafaa sreml @ ek 2
(A) A fen e T

B)  Tram wH

(C) dad

(D) WA g feRrrEn e

(E)  3faa fepmran

(F) = fepern

41 feu o forenedi 4 | HeH I9gE I &1 99 Hifau
(1)  *ad (A). (B). (C). (D)
(2)  Fdd (A). (C). D). (F)

(3)  *ad A), B). (C), (F)
(4) %9 (A). (B). (E). (F)



[Question ID = 1575][Question Description = Q65_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6297]
2. 2 [Option ID = 6298]
3. 3 [Option ID = 6299]
4. 4 [Option ID = 6300]

Correct Answer :-
e 1 [Option ID = 6297]

66 . . .
) Match List I with List IT :

ListI List IT

(A) International finance corporation (I) 1944

(B) International Development (I) 1967
Assoclation

(C) World Intellectual property (III) 1956
organisation

(D) International bame for reconstruction (IV) 1960

and Development

Choose the correct answer from the options given below:

1 @A-aW., ® -O. (© - dn. O - 1D
(2 A)-d. @® - adav. © -@O. @D - D
(3 @M-dn ® -ad. © -av. O - @O
49 A-1D. B)-aV). (C)-@. @O - O

gl I %\ g1 11 =1 faerr ifae

g 1 gl 11
(A) FEAIHA BIEEH FRIEH M 1944
(B) SeTIME Saerdie UHifiuse (I 1967
(C) dcd selFgd3iel U9l FARIHIEAIH (III) 1956

(D) FeryAe o i M Ug Saeyte (IV) 1960
Hrd feu o fawmedi § H 3T w1 FFH HIfA0

1 @-avm. B -@O. (© - dh @O - dp
@ @W-@m ®-av. © -0 O - dm
3 @-dp. ® -da. © -av). O - D
@ @W-dp B-av. ©-a@. @O - D

[Question ID = 1576][Question Description = Q66_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6301]
2. 2 [Option ID = 6302]
3. 3 [Option ID = 6303]
4. 4 [Option ID = 6304]

Correct Answer :-
e 1 [Option ID = 6301]

67)
Match List I with Last IT :
List I List IT
(A) Bonus shares ()  Invitation to existing share holders to

nurchasze additional new shares



(B) Demat shares (I) Issue is made to existing members free

of charge

(C) Right issue (III) Shares issues by a company to its
employees/directors at a discount for
providing know-how

(D) Sweat equity share (IV) Shares in electronic form

Choose the correct answer from the options given below:

1 @-d. ® -av. © -@O. O - dm
(2) (AH-1m. ® - @d. (© - dn. @O — dav)
3 @-av, B - dh, ) -ad, @@ —d

@ @W-awv. B -O. (© -dady @O - dmn

gl 1 |9 5=l 11 a1 fuerm Sifa
il g IT
(A) dHE 3 @M  adur s w0 sAfaie 93 39 @il 1 s
B feie s AD) a9 HewEi #1 9o faim T s 2
(C) safarspr Frf A0 ffi &9t gm s =i/ feeen &0 S
(F1-213) YeH & o feIu @e w fifEa s
(D) = "Y1 (e sfaadl) 3m IV) IS B9 9t s

= feu o famwedi 9§ 98 391 &1 9499 Hifau .

1 @-d. ®-av. © -@O. @O — dm
2 @-am. ®& -@O. (© - dh. @D - dav)
3 @W-av. & -dh. © -ad. @O - D

@ @-@d), -0 (©-d @O — I

[Question ID = 1577][Question Description = Q67_Commerce_25NS2_SHAAN_NOV21]
1 [Option ID = 6305]
2 [Option ID = 6306]
3 [Option ID = 6307]
4 [Option ID = 6308]

A wWw N -

Correct Answer :-
e 1 [Option ID = 6305]

° Match List I with Last 11 :
TLast I List IT
Objectives of business firms Economists
(A) Long-Run Survival ()  Marris. Robin
(B) Sales Revenue maximisation (II)  Wilhamson, D.E.
(C) Firm's Growth Rate maximisation (III) Rothschild, K.W.
(D) Managerial utility Function (IV) Baumol, W.J.
maximization

Choose the correct answer from the options given below:

1  @A-dp @ - dh, ©) - av. O - D
(2 @-av. @ - d. (© - dDh. D) - @D



(3) (A)-dDn. B - aAv). € - @d. @O - adD
4 @-dm @ -dn © -om @O - av

ol 1% arg gt 11 =1 e Fifso
o= I (==a w4 & Z=7) Tt 1T (z7eiammeA)
(&) e St () #fm, Tite=
(B) e T 1 sfehan #m I fafeamm, 42
(C) % F1 Ihg 7T I Afe=Ean F (IT) TiyE=ses, .59
(D) TEGFE ST A F AR (IV) =9, 3591

= fou MU e | R 3 =9 I

1  @A-dh. B - dh. ©) - dvV). @O - d
(2 A-a. B - dD. (€ - TDh. D) — @

(3) A -dn, B —-av). ) -@O. @O

(1D
4 A-d. @B - dn. © - @O @D - avm

[Question ID = 1578][Question Description = Q68_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6309]
2. 2 [Option ID = 6310]
3. 3 [Option ID = 6311]
4. 4 [Option ID = 6312]

Correct Answer :-
e 1 [Option ID = 6309]

69)
Match List T with List IT :

List I (Methods of Inventory Control) List II (Explanation)

(A) JIT system (I)  Divide the items into the categories in the
descending order of their usuage rate.

(B) ABC Analysis (II) Divides items into categories in the
descenting order of their critical use.

(C) FSND Analysis (III) Inventory arrive to the manufacturing sites
just few hours before they are put to use

(D) VED Analysis (IV) The items of inventory are classified

according to value of usage.

Choose the correct answer from the options given below:

1 @W-O @ -d. (© - ddn, @D - av)
2 @G-0 ®-dn ©-a)., O -O
(3 @A@-1D, B)-av). © - @ @O - D
49 A-av), B -dn ©-d, @O -O

gl % w12 g 11 =1 faerm $ifa

o= I (v fagam 1 fafimn) = 1T (=)

(&) JIT faes (D) @3 &l 6 JEF ok ER W AWE w9 § e &
2ofigd |

(B) ABC fagerm D) &3l &1 3% gaeal YEm & un W fave & Aviid
]|

(C) FSND fagemy (IID) =9HE-5=1 9mEl &1 990 feu 99 & oE 8 92 98



ferfomior w2t w vl 2

(D) VED fagemm (V) AME-g1 A 430 ® FE IEM g F EE T Fiina
o stren 21
A4 fau o faeredi & wdl 3 &1 =aq fifau

1 @A-O0O G -1d. © - ddn. @O - av
(2 @-dj. @ - dh. (©) - av). @O - @
(3 @-dn. ® -av. © - @O. O - dn
4 @W-av, (B - dn. € - d, @O - @

[Question ID = 1579][Question Description = Q69_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6313]
2. 2 [Option ID = 6314]
3. 3 [Option ID = 6315]
4. 4 [Option ID = 6316]

Correct Answer :-

e 1 [Option ID = 6313]

Match List I with List IT :

List I List IT
I (b-q)°
(A) Probability distmbution (D o= 1‘| 17;
(B) Binomial distribution (I) o=+Zplx- ;.')2
(C) Hyper geometric distribution (IIT) o =+/npq
f : -
(D) Uniform distribution (V) o= 1'|| n{%} {%J (%}

Choose the correct answer from the options given below:

1 @-dad. @ -dn © -av). @O - D

@ @-d. @® -dh © -@O @O - dv)
@ @-a. ®-O. (© - dn @O - dv)
@ @W-0O - ©—0n @ —an

el 1% |9 gl 11 a1 faerr hifau

T 1 g+l I
A)  Hyregal fadm = b-g)”
( O o=y
®) favg @ @M o=Sp-u°
(C) z=a =Hifidta faaw (III) o =+npq
g i \ _ [ ij(&}[i\?—n}
(D) UHEAH faam av) o ‘JIR(N v I\ V-1
i feu o famedi 4 9dl 39 &1 994 $ifao .

1  @A-d). @ - dh, © -av. O - d
2 @-dh. @G -dh. © - @O. @O - av
3 @-ady. ®-@O. © -dadn O - av



@4 @W-@O @ -d. (©) - JdDn. @ - dv)

[Question ID = 1580][Question Description = Q70_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6317]
2. 2 [Option ID = 6318]
3. 3 [Option ID = 6319]
4. 4 [Option ID = 6320]

Correct Answer :-
e 1 [Option ID = 6317]

71)
Match List T with List IT :
List I (Organisational Design) List I (Features)

(A) Learning organization (I)  Flexibility in the structure or Lack of structure

(B) Spaghetti organization (II) Linking of separate parts of the same organisation
or networking of separate organisations to
accomplish a common goal.

(C) Fishnet organization (III) The ability to continually change structure and
internal processes to conform to feedback with the
environment.

(D) Network structure (IV) Flexible, adaptable. rearranges itself quickly while
retaining its inherent strength

Choose the correct answer from the options given below:
(1) @-dn, @ -da. © -av. O - @
@ @-adn ®-@0O. ©-av. O - d
(3) A-M @B - dv). (© - ddp, O - dn
(4 A-d. ®-@0O. (© - av). () — a1
ol I 71" g1 11 %1 faers Sifau -
gt I (wmafren sifyeed) gefi 11 (ferdramd)
(A) sl e @  HEA H A A9 G0 6 Fd)
(B) HHETES HEA (D) @9 W0 % I WOl bl SIS AU HHH
359 6l gO & I fae wredl 6 Jeafd |
(C) Trwrz Hired @I gv=1 6 eman gigdd i graar s srafs
ufehn uftaw & w wfagfe #1sg #74 & foro
(D) Hed® B (IV) 9=, TBY 4 q0g, IHe sA<Mfzd ufdm w6
FEYEY FTd 70 A5 H I pedafiad # 2)
i< feu mu forepedi o wdl 39 &1 934 ifa

1 @-dn. B -dadnh. © -av. O - @D

@ @-ap ®B-0O ©-av O -d
@ @-@O. B -av). (© - dn, @O - dp
@ @-dn. ® - @O. (© - av). @O - dI

[Question ID = 1581][Question Description = Q71_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6321]
2. 2 [Option ID = 6322]
3. 3 [Option ID = 6323]
4. 4 [Option ID = 6324]

Correct Answer :-

e 1 [Option ID = 6321]

Match List T with Liast I1:
List I List IT



(A) Hedgers (I) Osaka

(B) Financial derivatives in India (IT) Increased volatility
(C) Arbitrageurs (III) Commercial producers
(D) Commodity future in origin (IV) Riskless profit

Choose the correct answer from the options given below:
O A@-O @®-a) © -ad, (@O — Jm
2 @-dan. G -ad. © -av. M) - @

3 @-dadv). @ -dn. © -a@O. @O - ad
4 @-dn. @d@ - @. (©) - don, @O - av)

gt 1< iy g=h 11 %1 firem ifs .

i 1 il
(&) e (F) @  iE
(B) wrA o fasftg 2hafa D =1 =i =ger
(C)  sFarqurard] (D) arfrfsres sares
(D) Huifedl R #1 3¢ (IV) iifian ifgq e

4 feu mu faedi § ¥ 3 %1 9949 Fifa .

1 @W-0 ®-adv. (¢ -ada@. O — Jdm)
2 @-dp ®-d ©-av. O - D

3 @W-amwm. ®-dh. © -@O O - dp
@4 @-a. @® -@O. (© - dn, D — av

[Question ID = 1582][Question Description = Q72_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6325]
2. 2 [Option ID = 6326]
3. 3 [Option ID = 6327]
4. 4 [Option ID = 6328]

Correct Answer :-
e 1 [Option ID = 6325]

) Mateh List I with List IT:
List I List IT
(Advertising Agency in 2020) (Brand)
(A) O&M (Ogilvy and Mather) (I) Mastercard
(B) Mec Cann Erickson (I} Nestle
(C) Trikava Grey (III) Cadbury

(D) JWT Hindustan Thompson Associates (IV) Proctor and Gamble

Choose the correct answer from the options given below:

1  @-dn. & - d. «© -av. @O - D

Fir LY AY _(TTITY My . Ty ™y __ TN MY . Ty



3 @-dm. @®-adv. © - @O. (D — I
@4 @-dnp. @& - dbh, © -d. @O - dv)

ol 1< 91y 9= 11 &1 faem ifo .

g I (fastrm wai=dt 2020 ) gt 11 (1)
(A) 30 uveg ug (sifierdl urg dep) (D HE=THE
(B) % w1 U (I %=
(C) Frran 1 (IIT) he=h
D) 9 goy A fagram givraa whifie (IV) Wit wg fae
4 feu mu fawedi 4 98 3 @ =94 Hifse .

1 @-dn. ® -3an. © -av). O - D

2 @-danp B -0 ©-av, O -adp
3 @-a. ®-av. © -O. O - Jdmo
4 @-ad. @ - dh. © -@d. @O -av

[Question ID = 1583][Question Description = Q73_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6329]
2. 2 [Option ID = 6330]
3. 3 [Option ID = 6331]
4. 4 [Option ID = 6332]

Correct Answer :-
e 1 [Option ID = 6329]

74) . . .
Match List I with Last IT:
List I List IT
(A) Actual Delivery (Iy Delivery of means of obtaining possession of goods
by the seller to the buyer
(B) Constructive Delivery (I) Physical handing over of the possession of the
goods by the seller to the buyer
(C) Symbolic Delivery (IIT) Voluntary transfer of possession of goods from
seller to buyer
(D) Delivery (IV) Acknowledgement by a third person in possession
of goods to hold them on behalf of and at the
disposal of the buyers.
Choose the correct answer from the options given below:
1 @-a™. ®-@O. (© -dn O - d
2 @-@m ®-av, © -@O. @O — Jm
(3) A-@. @B - dn. (¢ - av). D) — 1
(4 A-dn., B) - dn, (<€ - av). @O — @
ol 1% @y gt 11 %1 e Fifae
T 1 T 11
(A) arEatas gt (I)  Tasha GWT 36aT 1 AT 1 Foall oot = A1599 H1 T5H F

(B) TEATEH® ULl (IT)  Tershar GRT el 1 WTeT = Hsat i Aifas ggoit
fi™ I L o ) S| Y g i o S Sk S S e o P g e S e R



A bl b TR At it W O 2 AC A B Pl DAL L B S A L B L B L L L N L A L L e e L Bl L
(D) =T (IV) o W el T a1l diE oAt gl Fepnited 16 @8 %l =
AW T 7 39 o0 o1 A T

+= fou T T @ WA S = At

(1) A—IV). B) - O (© — dJdnp, O
(2) (A)— (D). (B) — (IV). (C) — (I). (D)

(1D
(I11)

(3) (A)-O. (B) - @D (C) - @V). (D) - D
4 (A)-D. B -d). (©€) -av). O - @D

[Question ID = 1584][Question Description = Q74_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6333]
2. 2 [Option ID = 6334]
3. 3 [Option ID = 6335]
4. 4 [Option ID = 6336]

Correct Answer :-
e 1 [Option ID = 6333]

75)
Match List I with List IT:
List I List IT

(A) Section 80 EE (I) Deduction in respect of rent paid

(B) Section 80 GG (II)' Deduction 1in vrespect of certain
donations for scientific researches

(C) Section 80 GGA (III) Deduction iIn respect of interest on
loan taken for residential house

(D) Section 80 E (IV) Deduction in respect of payvment of
Interest on loan taken for Higher
Education.

Choose the correct answer from the options given below:

1 @-am. ®-av. © -@O. @O - I
2 @-dn ®-0O ©-a, O -aw
3 @-dn ®-O0O. (©-av. @O - I
4 @A@-dam ®-advV). © -dn O - @D

ol 1< w19 9= 11 %1 fae Sifs .

g 1 g 11
(A) url 80 EE @  graF feu e R & wey 0 sl
(B) I 80 GG D Asmfaes viy 24 fasm eHi % ddy d s
(C) 9ml 80 GGA (D) fFam™ & g&M 24 fofv 70 0 W =79 & g99 9 H2fdl
(D) @ 80 E @IV) Feaa foien 2q fore T o W srd & ddy 9 F2d
12 fau o fasmedi @ wdl 39 1 = i

1) @-@ @ - @) © -0 O — @D
@ @-am, ® -0 (© - a, @O - (V)
@ (@-@n B - @O (©) - @v), O - D
@ (A)-@). ® - @V). (C) — @D, O - D



[Question ID = 1585][Question Description = Q75_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6337]

2. 2 [Option ID = 6338]

3. 3 [Option ID = 6339]

4. 4 [Option ID = 6340]

Correct Answer :-

e 1 [Option ID = 6337]

Arrange the following countries in the ascending order of their contribution to the WTO
budget 2020:

(A) China

(B) Japan

(C) Germany

(D) United states of America

(E) United Kingdom

Choose the correct answer from the options given below:
(1) (A (B). (D). (E) and (C)
2 (D), @A), B). (E) and (C)

(3)  (E). (B). (C). (A) and (D)
@ (D). (A). [B). (C) and (E)

freforfiaa <o &1 2y A 301 "9e 2020 1 I HAYEH & FTHE AU w9 1 @

(&) [
(B) WA
(C)y wi

(D)  wHgF = AU
(E)  ZA1eds Tdren

I few o faweqi 4 @ o I &1 999 Fifauo .

(1) (A). (B). D). (B) 3 (C)
2 D). (A). ®B). (E) 3 (C)
(3  (B).®).(C). (A 3 (D)
@ (D). (A). B). (C) 3 (E)

[Question ID = 1586][Question Description = Q76_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6341]
2. 2 [Option ID = 6342]
3. 3 [Option ID = 6343]
4. 4 [Option ID = 6344]

Correct Answer :-
e 1 [Option ID = 6341]

The assests of the Partnership firm. including any sums contributed by the partners to make-
up deficiencies of capital at the time of dissolution. shall be applied in the following manner

and order:

(A) In paying each partner rateably what is due to him for advances as distinguished

from capital.



(B) In paying to each partner rateably what is due to him on account of capital.
(C) In paying the debts of the firm to third parties

(D)  Dividing among the partners in the proportion in which they were entitled to share
profits.

Choose the correct answer from the options given below:

(1) (C). (A). (B). (D)
(2) (C). (B), (A). (D)
(3) (A). (B). (C), (D)
4  (B). (). A). D)
grgierl wfasar 6 ufegafei @, forai fages % oo i H s w0 % fou ader gm dmeE 6
g nfvr wftfer &, Freafafia yen 9 %m0 8 9= g
(A)  9A A s e wfim afedi A s AEer #E@ $ SgER PaE w5
®) T % s wren o F 0 AEen B e F SHE WA S
(C) 3= vefl &l Yfds3M & FOT 1 YaH &1

(D)  HEER % = 39 3IE 4 faurfaa e faad 9 oy &1 e 9rE FE F gwn 91

I fev o fawedi 0 9 gd 3 @ 939 $ifao .

(1) (©). (A). (B). (D)
(2) (C). (B), (A). (D)
(3) (A), (B). (). (D)
4 (B), (C). (A). (D)
[Question ID = 1587][Question Description = Q77_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6345]
2. 2 [Option ID = 6346]
3. 3 [Option ID = 6347]
4. 4 [Option ID = 6348]
Correct Answer :-

e 1 [Option ID = 6345]

Arrange the following market structures in the increasing order of the price elasticity of
products:

(A) Perfect competition

(B) Monopoly

(C) Monopolistic competition

(D) Oligopoly

(E) Duopoly

Choose the correct answer from the options given below:

(1) (0. (D). (E). (B). 4)
@  B.(E). D). ©). &)
(3 (O (E). (D). (A). (B)
@ Q). (). D). (E). B



faeferfian arsR s 61 39Sl 61 geg @9 & FRIE % 0 eFafig Fif

(A) ol gferee

(B)  uHlfEHR

(C) v yiral
D)  rearieEn

(E)  zrferpn

Hra feu o fawedi 0 9 @d 3w &1 =939 difaw

1) (©). (D). (E). B). &)
2 (B (E). D). ©). &)
(3)  (C). (E). (D). (A). (B)
4 (A).(C). (D). (E). (B)

[Question ID = 1588][Question Description = Q78_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6349]

2. 2 [Option ID = 6350]

3. 3 [Option ID = 6351]

4. 4 [Option ID = 6352]

Correct Answer :-

e 1 [Option ID = 6349]

The cash flow approach to assessing debt capacity involves the following steps; arrange these
steps in a correct sequence:
(A) Specify the tolerance limit on the probability of default.

(B) Estimate the probability distribution of cash flows, taking into account the projected

performance of the firm.

(C) Calculate the fixed charges by way of interest payment and principal repayment

assoclated with various levels of debt.

(Dy  Estimate the debt capacity of the firm as the highest level of debt which is acceptable.

Choose the correct answer from the options given below:

1) (D). (O, (A). B)
2 (A). 3B (©). (D)
3) (B).(C). D). A
@) D). (A).(C). (B

U1 ATHAT AR 7 T4l TETE 390 § Hefiiad =R w0 2| 3 =0T i @l A 8 At Hitan:
(&) % =H F1 AraEA W SR A i G A #1|
(B) ¥H % HEIHA FEAFCIGA F ST | TG 70 TH] TATE % AEEd S w1 A F

(C) =601 % faiy= =1 3 92 =9 YaA 37 §odd [YEE F 9 O e Tt S e F

(D) =B % I=aq9 WHE =0 F B0 H FE Hi R0 FHA1 B A BT

= fou o oo § ° TE I F =Ee Aia




(1) (D). (C). (A). (B)
(2) (A). (B). (C). (D)
(3) (B). (C}. (D). (&)
(4) (D). (A). (C). (B)
[Question ID = 1589][Question Description = Q79_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6353]
2. 2 [Option ID = 6354]
3. 3 [Option ID = 6355]
4. 4 [Option ID = 6356]
Correct Answer :-

e 1 [Option ID = 6353]

Arrange the following steps of formulating research proposal in a logical sequential order:

(A) Defining Research problem.
(B) Formulation of Hypothesis.
(©) Review of literature.

(D) Collection of data

(E) Research design

Choose the correct answer from the options given below:

1) (A.(®B). (©). D). (E)
2 Q). (E). B). (). ([D)
3 (A (E).©). D). DB
4 (A).(©), B). (E). D)

iy wEdTd o fmio & frefafaa =i &1 s @ifds sy 1 srafim i
A) Y FuE & aftafia e

(B)  WrEEETH1 H fHui

()  mrfess $i gefien

(D) RS H G

(E) 9ty ifireey
4= feu 1o fasmedi § A B I @1 =Ea Fifau

1) (A). B (©). (D). (E)
2 (A). (E). B). (). D)
(3) (A (E). (C). (D). (B)
4 (A). (). (B). (E). (D)

[Question ID = 1590][Question Description = Q80_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6357]
2. 2 [Option ID = 6358]
3. 3 [Option ID = 6359]
4. 4 [Option ID = 6360]

Correct Answer :-
e 1 [Option ID = 6357]



Arrange the following stages of the process of organizational change in the sequential order :

(A) Detailed consideration of the proposed change

(B) Collection of detailed information and development of alternative approaches in

relation to the problem or 1ssues
(C) Evaluation of various alternatives and framing a proposal
(D) Vocalization of the need to change

(E) Search for the main cause underlying the symptoms encountered

Choose the correct answer from the options given below:

(1) (D). (E). (B). (A). (C)
@ D). Q). E.®.©
B @), (E). D). (©). B)
@ ®.E. D). A).©
HiTSATH Yiad- i ufekan o =i =won o wuar ssafE i
(&) A giEd W faa =
(B)  \9E Hudl 42 o a1 H dehfoush gieediv faafaa & 3iR fawga d=a1 suem
(C) Taly= Tasedi &1 gegisA 377 Uk ward d9n &3]
(D)  uiEdd i sAEgaFa & ai § e
(E) 9T @121l < 3Fdfed g A0 &l @i

Hre fau mu fomredi § @ |8 I #1221 Fifaw

1 (D). (E). B). A.(©)
2y @D). A (E). B). (©)
(3)  (A).(E). D). (C). (B)
(4)  (B). (E). (D). (A). (O)

[Question ID = 1591][Question Description = Q81_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6361]
2. 2 [Option ID = 6362]
3. 3 [Option ID = 6363]
4. 4 [Option ID = 6364]

Correct Answer :-

& 1 [Option ID = 6361]

Arrange the following steps. In a logical sequence of debt recovery by financial institutions

through Debt Recovery Tribunals (DRTs)?
(A) Restrain him from dealing with/disposing of the concerned assets/properties pending
at the hearing of the application.

(B) Direct him to disclose particulars of properties other than those specified by the
applicant bank.

(C) Show cause within 30 days as to why the relief should not be granted to the bank.

[Fa. 1 TTETIRN - R SPPON . (T FURTSESORITY | OPPIRY T RPN IDRNE: 1 | vNIVRPIRUR., s IO, . BRI (i



ALIIUVOT LD LULLIDLLE dAllodvysl L1 Uil Lo UpLWiUllo pivicll UOlIUYY .

1 (B).A).(©)
(2 A).MB.©
3 ®.0C). &
@) (©).B). @A)

H0 el i (DRT) & wegn 4 fo+ra geensi gr = agefl < fefofaa =i #1 aifds s

4 eyafim #1

(&) 38 gafua gieaafea /dafai § srieE 71 32 82M W e ol dadeh fh 3irded-va &l gaars
el

(B) e /s gr1 fids ddfadi & sifdfea 317 |t i fafme SHEd &1 gemE #56 F o
ECRECRECY

(C) 30 fedi % 3ig Frv gam & &% 1 @2 #9 4 € )

< feu o fawei § 9 5 I &1 999 Fifau .

(H (B, A, (©

(2) (&). (B), (C)

3 ®.0C).A

4 (©).3B).A
[Question ID = 1592][Question Description = Q82_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6365]
2. 2 [Option ID = 6366]

3. 3 [Option ID = 6367]
4. 4 [Option ID = 6368]

Correct Answer :-
e 1 [Option ID = 6365]

Arrange the following steps of market feasibility study in the sequential order :

(A) Based on the cost and anticipated sales revenue. calculating the break-even price and
the sales volume.

(B) Forecasting sales. based on demand estimation and competitive analysis.

(C) Estimation of demand in the target market. of different price levels.

(D)  Estimating the cost of serving the market segment.

Choose the correct answer from the options given below:

(L (B.(C). D). A
(2) (0. (B). D). A
(3)  (B). (D). (A). (C)
4 (C).®B). A). D)
TN SHeaErdd] Heggq & FeAifed =on = swuan sgafiE =t

(&) @A S sEa fashl e w st wn fasae famg s fasea afom 61 e #5670



(B) fasa qafgam, om 3am 30 gfqes favemm @ snefa
(C)  @fgma s | wpr 3eE, = dima w=w/i w

(D)  ST9IH @ i ATFHA Yid i SR 1 AT
Hra fou e fawedi 4 3 w8 3w *1 =979 Hifaw .

1) ®.©). D). A
(2 (©).®B). D). A
(3  (B).D).A.©C)

(4 (C), (B).(A). (D)
[Question ID = 1593][Question Description = Q83_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6369]
2. 2 [Option ID = 6370]
3. 3 [Option ID = 6371]
4. 4 [Option ID = 6372]
Correct Answer :-

e 1 [Option ID = 6369]

Arrange the following procedure for the grant of patent in a proper sequence :

(A) The true and first owner shall apply in form I and legal representative of true owner

shall apply in form II

(B) A complete specification shall be filled with a fee of Rs. 50/- within 12 months from
the date of filing of application

(C) The first inventor of the work who claims to be true and first owner or his legal

representative

(D)  For each invention separate application for a patent shall be made

Choose the correct answer from the options given below:
L A). D). ©C).B
(2) (O). (D). (A). (B)

3) (B (A). D). (C)
4 (B). D). (C). A

Uewe weH @i o feferfiad i 1 ayf=a saram &

(A)  drdfass 9 yuy &l urEy 14 37eEd 0n 36 andfas w@rdft o fafas afqff geg 11
FTTE FHI|

(B)  wrded fai & 12 urg & ofiaw 50 ¥93 & 3o & A Aol fafadem s smom)

(C)  arAfas 21 &1 g - diefl, & &1 U9H s 31 vy @l wue 3aa fafue afatfng

D)  9FHF =0 & U & feru stem & sardeq fopan o

Hre feu o fawedi § 9 w8 3w &1 =37 Fifu .

1 A). D). (©). B
(N (Ch. (D). (A). (B)



(3) (B). (A). (D). (C)

(4)  (B). (D). (C).(A)
[Question ID = 1594][Question Description = Q84_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6373]
2. 2 [Option ID = 6374]

3. 3 [Option ID = 6375]
4. 4 [Option ID = 6376]

Correct Answer :-
e 1 [Option ID = 6373]

Sequence the steps for computing depreciation in income from Business and Profession :

(A) The written down value of each block as on the last day of previous year
(B) Find the value of each block at the beginning of each year

(C) The money received along with scrap value, if any in respect of the same blocks, which

are sold/ discarded during the year

(D)  Assets required during the year in the respective blocks to which the new assets

belong

Choose the correct answer from the options given below:

1) (A).®).(©). D
(2 ®.D). ). A
3 @) ®B).D.(©

4 D). B). (). A
S U4 U9 § 4 dTefl A G 5 6l AT & i 6 FHEE
(&)  foma g@ & sl e 2wl @ sufafed g
(B)  # Ay UAY U & Hedfd @l ged 37 )
(© @ &% drF o Heifed =il /el A1l 2, S ey § @i gea, Jfe #1E #, & W 9 o
@) 9 % F FH9: 34 gl & fou smavas gieafeat o 58 ot gatia 26 2

Fra few 1o fawedi § | 58 3 %1 =91 Fifu .

1 (A).®B). (©). D)
@  (B).(D).©).A)
3) @A), B).D.(C)
@  D.®.0.®

[Question ID = 1595][Question Description = Q85_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6377]
2. 2 [Option ID = 6378]
3. 3 [Option ID = 6379]
4. 4 [Option ID = 6380]

Correct Answer :-
e 1 [Option ID = 6377]



86)

Given below are two statements. One is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : Foreign investment is playing an increasing role in economic development and
contributes to a significant share of the domestic investment, employment
generation and exports.

Reason R:  Substantial increase in the magnitude of capital inflows have remarkably

improved the balance of payments and foreign exchange reserve position.

In the light of the above statements, choose the most appropriate answer from the options
given

below:

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct and R iz NOT the correct explanation of A
(3) A is correct but R 1s not correct

(4) A is not correct but R is correct

= <1 FA fow o F) v sfawuA (Assertion A) % %9 # foifiga ® 41 g 39 S0 (Reason R) %
A

sty A ¢ fameli FEw s fam 8 Atawtas giew FamE w0 w2 i wme e, T geE g
Tl ® HEeag TS T A

FOOUR: U F A VAR % AR 55 Hecaqyl gig 4 WTEE Hger S0 e gun gew F foufa |
et gaw = 2

IHIE FYA H AT H, A= 5w T fTEea 3 ¥ geE 39 I F = i)

(1) A 3R R =i @81 £ 3 R. A i o =me=n 2|
(2) AN RaH 981 7 31 R. A it 9#t =men T8 2
(3) A 2o R wd T 2
(4) A= i 2 Wi R T 7

[Question ID = 1596][Question Description = Q86_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6381]
2. 2 [Option ID = 6382]
3. 3 [Option ID = 6383]
4. 4 [Option ID = 6384]

Correct Answer :-
e 1 [Option ID = 6381]

Given below are two statements:

Statement I: If firms are disproportionately powerful. the market leader makes the first
move and captures two-thirds of the market share. while the follower firm gets

only a third of the market share.

Statement II : Oligopolist firms do better by cooperating than following its dominant
strategy.

In the light of the above statements. choose the most appropriate answer from the options

given below:



(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement IT 1s incorrect
(4) Statement I 1s incorrect but Statement II is correct

i =1 %o T §)

FoA 1 ;. Flg BH W FAaE B9 ° wiE el 2, a1 ST h Smil BH A S9gE SR & gl-TaErs

T TR 9t 2
F Il: = (TS ) UEIE @ SR GEATeRE A AE AT EReR FH1 R e gE

EAGIREA

I FoF F AT 9, A G T T 8 @ #eE S0gE ST R =94 i)

(1)  =eF I @ I gl |3 2

(2) = I Ei I 5 e A

(8) @ I |l 2, =it %o I 7Terd 2

(4) o I e 7, Wi B I T 2

[Question ID = 1597][Question Description = Q87_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6385]
2. 2 [Option ID = 6386]

3. 3 [Option ID = 6387]
4. 4 [Option ID = 6388]

Correct Answer :-
e 1 [Option ID = 6385]

Given below are two statements : One i1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : Mean deviation 1s about 80% of Standard Deviation.

Reason R:  The quartile deviation is about 2/3 of the Standard Deviation.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true and R is NOT the correct explanation of A
(3) A is true but R 1s false

(4) A js false but R 1s true

= =1 T fou T 2| oF AAfaEUA (Assertion A) F =9 ¥ fEiEd ? a1 g5 3% FAW (Reason R) #

= q



AFIE A : AT [H9eE oEF @ # o e 80% BT 2

FEOR: T IEer A e e 2/3 Fe A

ST A F AT H, A 50 T e 8 A HeE I ST = i

(1) A3 Ram =7 2 3t R, A $i of =men 2
(2) A ¥R Rl Te # 3R R, A i 981 =T 6 2
(3) Aw #f#a R ud 94 2
4y A =H TF 2 S R &3 2
[Question ID = 1598][Question Description = Q88_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6389]
2. 2 [Option ID = 6390]
3. 3 [Option ID = 6391]
4. 4 [Option ID = 6392]
Correct Answer :-

& 1 [Option ID = 6389]

Given below are two statements:

Statement I : Capital market plays an important role in mobilising resources and

diverting them in productive channels.

Statement II : Capital market is a market where buyers and sellers engage 1n trade of

financial securities like bonds. stocks., ete.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

F= = e fem o E)

FoA I :  WEEAT U FH U 3 Sted 99T 4 g1 ST qEeaqu g 1 s e )
FHIL: Ul SIE 97 AW 2 A5 ) v {dghar G wiagiagt S9 a@ivs, =i o % ouE |
Herd 2 2

IHIE FYA F A H, A= o T e 0 9 weE 3w I 0 = fia)

(1) FoA [ =31 10 =i O21 2
(2) w3 R 00 56 o4 2

(3) A I EA 2, R w11 e 2
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[Question ID = 1599][Question Description = Q89_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6393]
2. 2 [Option ID = 6394]
3. 3 [Option ID = 6395]
4. 4 [Option ID = 6396]

Correct Answer :-
e 1 [Option ID = 6393]

90 ; : g :
) Given below are two statements: One 1z labelled as Assertion A and the other 1s labelled as
Reason R.
Assertion A : A, the owner of a ship by fraudulently representing her to be seaworthy
induces B. on underwriter to insure the ship.
Reason R : B can obtain cancellation of the policy, as 1t 1= a fraud on account of

fraudulent misrepresentation under the contract act.

In the light of the above statements, chooze the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A

(2 Both A and R are true and R 1s NOT the correct explanation of A
(3) A 1s true but R 1s false

(4) A is false but R is true

4 71 A f2u 2| v wfaFeT (Assertion A) mwn%f@ﬂﬁmmmm (Reason R) =

=H -
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[Question ID = 1600][Question Description = Q90_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6397]
2. 2 [Option ID = 6398]
3. 3 [Option ID = 6399]
4. 4 [Option ID = 6400]

Correct Answer :-
e 1 [Option ID = 6397]
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Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse. China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors. including e-
commerce platforms., data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient. with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although thelr investment activity slowed down imitially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.

20 o T S ST wfEn SR AraveT 3H 9T SeTieT weE @ I St

FIES 19 & TAE ¥ IH EESA W9 T4 7Y 9RA A 59 &9 § FEw § s e 13% #i ghg ®
Irm??nmmﬂmﬁﬂmmuﬁﬁmﬁnmn@vﬂmmﬂﬂwwmﬂwﬁaﬂ(mﬁ
= 3E) F &9 § °HEA 2020 § 13% Jig WH T TH1| A TR & s, F9 86 v = 5w 7 e
=W 3 {aHE Fadl 5 T2 F TEer (A%as) R AWl SeReHe 23 A % HEEE 2020 ° divas
URSIAE § 42% i THEE 3E 3E 9% 2019 § 1.5 A MWHW?WS\QW
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v 5 Tt a= o fam o semn o gwaens 3ig (13%) wm F m aa 1 faew w sfaen # =fe
e S 1) H-uiE e SR U A §3% dfg 5 R 4R $27 i SR w7 T dawe 9 9
THgidl @ Hi Ywd § v9 S U GEEidl B @Rl HeAT| 9RA G G, 199 w5 S - wiwE, S TEEE
TAAl AR TStEE Waw AiEa Sed W A 5idm @ °, =8l gen 0 aeEe T 8| Al 2
AR T & SAT-3R 59 § F9 0, U # UEEE 59 =H UREenE WHEdt 5% % €9 § 5 § 92m
T W TR AR 4% | AeH 163 oo S Sen 2 T 3= NiEehE SE ¥ 2020 9 1% @i Jig
72 o Him-iiE v SR T H 54% i 9tg %=
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Which countrvoutlined in the world in terms of FDI inflows in ICT and pharmaceutical

sector?

(1) India
(2) USA
(3) Israel
(4) China

HAEHA 9 sl 23 4 vsEiE vare & ded o fava O fey ¢w @ vyesH Haihy w2y

(1)  urd
(2) ARt
(3)  FATHA
4 ==

[Question ID = 2076][Question Description = Q91_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8301]
2. 2 [Option ID = 8302]
3. 3 [Option ID = 8303]
4. 4 [Option ID = 8304]



Correct Answer :-
e 1 [Option ID = 8301]

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse. China is the only other country that has shown remarkably high FDI growth.

An ‘investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors. including e-
commerce platforms. data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient. with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%

“Although thelr investment activity slowed down imitially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.

20 7o T i ST wfEn SR e 3H 9T SeTieT e @ I St
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The author opines in the paragraph that which of the following has helped to acquire assets
in overseas markets for expansion.

(1) Low interest rates and increasing market values

(2) low per capita incomes and high resources

(3) Attractive markets and overseas valuations

(4) Governmental support and incentivization to promote cross border trade.

TETE § TREF F SAHAR SR 0 S -aE S 8 aREeta oAt # fou efetes 4 1
(2) = ofa =t 9m s 7= FEaE
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[Question ID = 2077][Question Description = Q92_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8305]
2. 2 [Option ID = 8306]
3. 3 [Option ID = 8307]
4. 4 [Option ID = 8308]

Correct Answer :-
e 1 [Option ID = 8305]

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy year for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to 327
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms. data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of
11% 1n 2020, and cross-border Mé&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and Inecreasing market values to acquire assets in overseas
markets for expansion, as well as rivals and smaller innovative companies affected by the
crisis.
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Annual increase /decrease in India’s annual FDI inflows and Global FDI flows, respectively
are:

(L) USD 27 billion and USD 163 billion

(2) +13% and —42%

(3) —4% and +11%

(4 Data not available
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[Question ID = 2078][Question Description = Q93_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8309]
2. 2 [Option ID = 8310]
3. 3 [Option ID = 8311]
4. 4 [Option ID = 8312]

Correct Answer :-
e 1 [Option ID = 8309]

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse. China is the only other country that has shown remarkably high FDI growth.

An ‘investment trends monitor issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy yvear for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors. including e-
commerce platforms, data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world’'s largest FDI recipient. with
flows to the Asian giant rising by 4% to $163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although thelr investment activity slowed down imtially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.
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India and Turkey are attracting record numbers of deals in

(1) Overall production
(2) IT consulting and digital sectors
(3) Pharmaceutical and allied sectors

(4) GDP and Per Capita Income

e 3R 76 § Feiad § O g g9 ¥ S=31 o § 3eed w1 TR A Y
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[Question ID = 2079][Question Description = Q94_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8313]
2. 2 [Option ID = 8314]
3. 3 [Option ID = 8315]
4. 4 [Option ID = 8316]

Correct Answer :-
e 1 [Option ID = 8313]

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘investment trends monitor issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy year for foreign direct investment.

India achieved positive growth (13%). boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors. including e-
commerce platforms, data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% 1n 2020, and cross-border Mé&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets In overseas
markets for expansion, as well as rivals and smaller innovative companies affected by the
crisis.
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Which statement 1s not true about China?

(1) FDI inflows increase by 4%
(2) International M&A increase by 54%
(3) Highest FDI in ICT and Pharmaceutical sector

(4) USD 1.5 Trillion sized economy

frafefiga 4 & <fm % wea § #7 m wua w8 96 27
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[Question ID = 2080][Question Description = Q95_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 8317]
2. 2 [Option ID = 8318]
3. 3 [Option ID = 8319]
4. 4 [Option ID = 8320]

Correct Answer :-
e 1 [Option ID = 8317]

Topic:- Commerce_25NSH2_SHAAN_NOV21C

1)

Read the following passage and answer question in the most appropriate manner,

Management theories help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which In turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700z through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.
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Given below are two statements:

Statement I : Management 1s the ultimate tool for achieving business goals.

Statement IT : It was management only which initiated industrial revolution.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I is true but Statement II is false
(4) Statement I 1s false but Statement II is true
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[Question ID = 1606][Question Description = Q96_Commerce_25NS2_SHAAN_NOV21]
1 [Option ID = 6421]
2 [Option ID = 6422]
3 [Option ID = 6423]
4 [Option ID = 6424]
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Correct Answer :-
e 1 [Option ID = 6421]
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Management theories help organizations to focus., communicate. and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far. and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation. it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were

productive.
Traferfiam mm %t 9 o TR & s I
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AEea® 7 % U foga & faweg =+ genen 9 S 9 9 @t 5@y fGon 0 o =) w™ % 39 faga gwg #

18 =i % @7 & G91 @ 2041 ALl F UEH & A9 9% AT HiG HEEIE H FEERY qHEdT eh AE
o ToamE Hutal ugel Tl ot @m0 wius gamagEs wE # Feea 1 @l sl SR Sena gEar 8

What helps leadership to focus on their main goal?

(A) Management theories
(B) Organizational structure
(C) Inter-personal relations
(D)  Effective HR policies

(E) Government Directives

Choose the correct answer from the options given below:

(1) (A, B). (C) only
(2) (B). (C). (D) only
(3) (A), (B) only

(4 (A only

TETH % YR W Fd7d Hi T T AL W A=H Higd 0 e damar foed 27

A)  vEuH fagE



(B)  HSATHE |

(C)  iadafaas ey

(D) wrel g wEeE it
(E) ] fen-fdm

Fra fou o foreredi § | Iuge I &1 wE Fifa

(1)  #99 (A). (B). (C)
(2) %= B), (0). D)
(3)  %dFd (A). (B)

(4)  Fad (A)

[Question ID = 1607][Question Description = Q97_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6425]
2. 2 [Option ID = 6426]
3. 3 [Option ID = 6427]
4. 4 [Option ID = 6428]

Correct Answer :-
e 1 [Option ID = 6425]

Read the following passage and answer question in the most appropriate manner,

Management theories help orgamizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revelution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand. company leadership had to ensure their employees were
productive.

Trertiom T Rt 9% SR WY S IR A
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In the paragraph. what is meant by “There 1s no such thing as a non-size fits all
management theory”

(A) Management theories keeps on changing

(B) There are different theories for different situations

(C)  Abusiness can't grow without management theories

(D) Management theories are non-scientific

Choose the correct answer from the options given below:

()  (A). (B).(C) only
2y  (B).(C). (D) only
(3) (C). (D) only

(49 (A). (B)only

=g 0 Uk gl el 3 wfl T A S wiE e fagra a8 27 @ 3 ' e
A)  vEuA faga sgerd wEd 2

B fum-fo= ferfe & fau fm-fi= fagm @)

(C)  waud fagrdl & fa saam 3wl Ad 9 g 21

D) vEA faga A3 2h )

i fou mu foepedi 4 & 399 I 1 = Hif

(1) == (A). (B). (C)

(2) %4 (B). (O). D)
(3) %9 (C). D)
4  FEE (A). B)
[Question ID = 1608][Question Description = Q98_Commerce_25NS2_SHAAN_NOV21]

1.1

[Option ID = 6429]
2.2

[Option ID = 6430]
3.3

[Option ID = 6431]
4. 4

[Option ID = 6432]
Correct Answer :-
o 1

[Option ID = 6429]

Read the following passage and answer question in the most appropriate manner,

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory 1s implemented. it automatically streamlines the top priorities for



the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be 1irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were

productive.
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as
Reason R :

Assertion A: The industrial revolution brought better and faster technology allowing
companies to perform more efficiently than ever before and gave them ability
to dramatically increase their output.

Reason R : In order to meet demand, company leadership had to ensure their employees
were productive.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is NOT the correct explanation of A
(3) A 1is correct but R is not correct

(4) A 1s not correct but R is correct

= 21 FoA fow o B | v AfHFEEA (Assertion A) F ¥ ¥ fofEa 7 91 g 39F FA0 (Reason R) F
T :

AWFT A ¢ IEETH FAG F WA SEGE AR AT ST 1 TAEE A Ted w6 @
HATIF HEHAEF FE F G A A1 AL T SN Gl °§ AeAa® IG5

IF FEH F ATAD qﬁaﬁﬂwﬁﬁﬁﬂuwWﬂﬂﬂﬂhm
(1) A iR R A @ # 31 R, A 51 58 == 2|

(2) A ¥ RoF @A 2 @R R, A Fi T8 =wen 75 2)

(3  Awh? AR R A T 2

(4) A= T 2 A R T 2



[Question ID = 1609][Question Description = Q99_Commerce_25NS2_SHAAN_NOV21]
1. 1 [Option ID = 6433]
2. 2 [Option ID = 6434]
3. 3 [Option ID = 6435]
4. 4 [Option ID = 6436]

Correct Answer :-
e 1 [Option ID = 6433]

Read the following passage and answer question in the most appropriate manner,

Management theories help organizations to focus., communicate. and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory. basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far. and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation. it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.
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Which among the following 13 NOT a correct statement?

(1) Industrial revolution was a turning point in Business operations.
(2) Management theories are ever changing

(3) Good management makes communication flow better

(4) Management always moves in a straight line

frferfiga o | ®-a1 %u4 @ 48 27

(1) i wifd sgaem vareE § s ol dre o)
(@) A fagia gien deed w2

(3)  IH YEYH § HAR %1 YA A& & T 2

(4)  gEe gH9n =i @ g =g 2)

[Question ID = 1610][Question Description = Q100_Commerce_25NS2_SHAAN_NOV21]
1. 1



[Option ID = 6437]
2.2

[Option ID = 6438]
3.3

[Option ID = 6439]
4. 4

[Option ID = 6440]

Correct Answer :-
e 1

[Option ID = 6437]

Topic:- GP_25NOV_SH2_A

1) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arféret 3 U s1U st & e WR gesil @ IR difre @

fogsifeiRaa aiferept uia fireot - Bieol srosil (A - E) 3 wafanf¥=il @ gferora fasirsier @ 3k gay a Afden @il @ sopurd @ corfell 3 il
uiq eroell 3 et 35000 wafarsl oria 3

oyl @1 Foroorar farsier :

iorgor [Ty B gfreraar (%)gFy a Afden wataf¥l T srepuI
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

The total number of employees in Organisation C is approximately what percent of the total number of employees in
Organisation D?

Jio1061 C 3 pafanfyl bt aget Fizen 2oroer D 3 wafanfyl &t agetr e 1 PP fbdar gferera 3 ?

[Question ID = 2016][Question Description = S2_qSNz_PG_GP20_Q01]
147 %/147 % [Option ID = 8061]
312 %/312 % [Option ID = 8062]
207 %/207 % [Option ID = 8063]
183 %/183 % [Option ID = 8064]

A WN -

Correct Answer :-
® 147 %/147 % [Option ID = 8061]

2) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

|0rganisation IPercentage (%) of |Ratio of Male to Female



employees employees
A 18 % 3:7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

Organisation-wise Breakup of Employees

arferept # U 310 3fibsl @ MER U= Yol d Ia difSre :

forgaiferRaa aiferot uia Mol - Mot ol (A - E) 3 oatanf=il @ gferora finisiar @I siik gay a #Afden waranfeil @ sielurd o corfdl & st
uiq ¥eroeil 3 ot 35000 watarst oria 3

¥l @1 FeToolaR fasrsier
iorger [T B gRerTar (%)gFy a Afden Wttt T e
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the total number of males in all the five organisations together?
sfl uifa He106il DY freas: el &t @t Jizean a=n 8 ?

[Question ID = 2017][Question Description = S2_qSNz_PG_GP20_Q02]
1. 13350/13350 [Option ID = 8065]
2. 14700/14700 [Option ID = 8066]
3. 15960/15960 [Option ID = 8067]
4. 16280/16280 [Option ID = 8068]

Correct Answer :-
e 13350/13350 [Option ID = 8065]

3) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

darferept A f3U s1Q sfidpsl @ 3R Uz gesll & 3az i :

forrarferRaa anferer ufa fireor - fiieol Fsroall (A - E) 3 ool & gferera fapimsior @ ik ysy a afdcn waaniRil o srgqurd ol gorfdl 3 it
uiq eroal 3 et 35000 wafarst oria 3

wefanf¥Il o1 Foreorar fasrsier :

sioroer (@RIl b gfereraar (%)'gxﬂaﬂ%ﬂlaﬂiﬂ&zﬁaﬂa@mﬁ

A 18 % 3:7

B 22 % 11:9




c 31 % 3:2

D 15 % 2:3

E 14 % 1:3

What is the ratio of the number of males in Organisation A to the number of males in Organisation C?

Joroer A 3 gaul &l e siiz Hereer C 3 gl &l A ol siolurd o= 3 ?

[Question ID = 2018][Question Description = S2_qSNz_PG_GP20_Q03]
18:31/18:31 [Option ID = 8069]

9:31/9:31 [Option ID = 8070]

7:27/7:27 [Option ID = 8071]

9:19/9:19 [Option ID = 8072]

A WN -

Correct Answer :-
e 18:31/18:31 [Option ID = 8069]

4) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arféror # fu a1 siidest o smen? u? gesil o Ja2 S :

forarferRaa anferer e feor - fieot Fvroall (A - E) 3 ol & gicrera famirsior @I ik yay a afden waniRil @ sropard ol gorfdl 3 it
uie o166l 9 el 35000 It PRz 8

wfenf¥Il o1 FoTeorarR fasirsTar :
iorger (O BY gRrerTar (%)gFy a Afden waafyl T e
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the difference between the number of females in Organisation E and the number of females in Organisation B?

Jis1o01 E & afdcmisii &bt Jizsan iz Jiercer B 3 sifdensii &t e o1 sia= a=m & ?

[Question ID = 2019][Question Description = S2_qSNz_PG_GP20_Q04]
210/210 [Option ID = 8073]
350/350 [Option ID = 8074]
170/170 [Option ID = 8075]
300/300 [Option ID = 8076]

A w N =

Correct Answer :-
e 210/210 [Option ID = 8073]

5) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.




Organisation I:ercentage (%) of Ratio of Male to Female
mployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arféror d U a1 siiaest & ez uR gesil o Ia2 St ©

forgatferiRaa anferer e feor - f¥ieot Fdroall (A - E) 3 osfnixil @ gicrera fanirsior @I ik Yay a aAfden wacniRil @ sopard ol goridl & it
ui JHs166ll 9 agel 35000 et Rz 8

il o1 AsIooldaR fawirsier :

iorger (O BY gRerTar (%)gFy a Afden Wt T e
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the sum total of the number of females in Organisation D and the number of males in Organisation E?

o160t D 3 sifdensii i e 3iiR Hdr6el E 31 gl bl A3 oI aget AT a= 8?7

[Question ID = 2020][Question Description = S2_qSNz_PG_GP20_Q05]
1. 4375/4375 [Option ID = 8077]
2. 4475/4475 [Option ID = 8078]
3. 4500/4500 [Option ID = 8079]
4. 4875/4875 [Option ID = 8080]

Correct Answer :-
® 4375/4375 [Option ID = 8077]

Topic:- GP_25NOV_SH2_B

1) What is the name of the score the student would get if the measurements were completely accurate and error-free?

Af¢ A6l guiaRn Ack® 3ii gfexldd al, dl faeneif ol frcrol arcl yrAies @I o6t o= 8 ?

[Question ID = 2026][Question Description = S2_qSNz_PG_GP20_Q06]
1. I-score/ss - grie [Option ID = 8101]

2. Neutral score/ace ymics [Option ID = 8102]

3. True score/arxafaa yraics [Option ID = 8103]

4. Z-score/Ss - ymic [Option ID = 8104]

Correct Answer :-
® |-score/ams - ymia [Option ID = 8101]

2) "Contagious” spreading of behaviours through imitation, is known as

GIBRVT B AIEAA A RAGERI Bl ARG YAR e 2 -

[Question ID = 2027][Question Description = S2_qSNz_PG_GP20_Q07]
Random effect/=refes® gsma [Option ID = 8105]

Ripple effect/3f3 ysma [Option ID = 8106]

Scripted effect/feiftag gamra [Option ID = 8107]

Norm effect/#rer gsma [Option ID = 8108]

AW N -

Correct Answer :-
o Random effect/=mefese® yama [Option ID = 8105]



3) Given below are two statements

Statement I: In all interactions, a message is sent and a message is received. Sometimes teachers believe they are sending
one message, but their voices, body language, choice of words, and gestures may communicate a different message.

Statement II: To deal with cyberbullying, parents should be encouraged to keep computers in a public room in the house.

In light of the above statements, choose the most appropriate answer from the options given below

oflar <Y aeret feu s1e 3 ¢

@l - | 1 19l sreeilcatepsl 3 v 91 Yftia o= Sirer 3 3iik uwp A3 9I @I 3ifdeaur fopn sirar 3 ol - sl 181 airera 3 fp d wap AS9r
951 3 3, URq A 3 fob Iorchl 3rarsI, IR HIHI, 916G I <RIol 3R HId HBRIG BB 36T AT AYFIA Dl 3f

@l - |l ; ATyl A forucol @ 1w BRI DI 4R D ArdSIfore Ber d el D fore siftsiawml oI Qienfda wen afde
SRS Becll @ 3MIelid 3, ofldl f&u s1u frseul 3 A W@ = @1 ol HifSte &
[Question ID = 2028][Question Description = S2_qSNz_PG_GP20_Q08]

1. Both Statement | and Statement Il are correct/memr | 3z |l G6il 2@t & [Option ID = 8109]

2. Both Statement | and Statement Il are incorrect/aermr | 3iiz || Glail steta & [Option ID = 8110]

3. Statement | is correct but Statement Il is incorrect/wmeret | 2@t 8, fpoq @eret |l sera & [Option ID = 8111]
4. Statement | is incorrect but Statement Il is correct/wmeret | sl &, fboq @ert || 38t 8 [Option ID = 8112]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3iiz Il glell 28 & [Option ID = 8109]

4) Match List | with List Il

List | List Il

Ericson's Psycho-social development [Stage

A. Intimacy vs. Isolation I. Normally after retirement
B. Ego integrity vs. Despair Il. Much of adulthood

C. Generativity vs. Stagnation Ill. During adolescence

D. Identity vs. Confusion IV. During the 20s

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifie

Rpet -1 il

(uf¥apto1 J16ll - Arfore faerT) (<r2o1)

A. aforscdl eIl TdIdbIusT |. meteRE: JFaiforgft & dac
B. 3133 AATOICOT Follel 56T Il. e=1eep Shiaer @ &3 23a &
C. STolollcabdl Jolld STfcrdlorar lll. Reonerazen 3

D. sif3drcr gotman spifoa IV. 20 A 29 ad &t 3Ry 3

oiil feu oru famedl 3 A A8 3R gfore :
[Question ID = 2029][Question Description = S2_qSNz_PG_GP20_Q09]

A-1V,B-1,C-II,D-lll [Option ID = 8113]
A-1,B-11,C-1ll, D - IV [Option ID = 8114]
A-11,B -1, C-1V, D - | [Option ID = 8115]
A-1ll,B-1V, C-1,D - Il [Option ID = 8116]

A WN =

Correct Answer :-
® A-IV,B-1,C-Il,D-Ill [Option ID = 8113]

5) Which among the following are components of decision traps to illustrate what needs to be a possible evaluatory
framework to monitor the learning process?

A. Overconfidence

B. Coaching

C. Frame blindness

D. Taking shortcuts

E. Persistent misconception

Choose the correct answer from the options given below:

3ifeeRI yfdpRn &l foreRIell @ féTe AHIfdd IcAIDaIHAD GIl I=T 3l, AG G9liol 3 3Moidrcl forvia el (BR1stel Su) & acd fowafcilad 3 A dlet
g7

A. sifareara



B. smgforgor

C. B F3ieran

D. 9if¢ - e con

E. Feril frezmm - emonm

ofid o s1u fwseal & A A8 IR BT wRI6l HIfvIT :

[Question ID = 2030][Question Description = S2_qSNz_PG_GP20_Q10]

A, C and D only/daet A, C siiz D [Option ID = 8117]
A, D and E only/@aa A, D siiz E [Option ID = 8118]
B, D and E only/dsae B, D siiz E [Option ID = 8119]
B, C and D only/a@aer B, C iz D [Option ID = 8120]

A W N -

Correct Answer :-
e A, Cand D only/adaet A, C siiz D [Option ID = 8117]

6) The rationalistic mode of knowledge accepts the rules of

Sifol I ghgardt YyoR fpera former Frerar 3 ?

[Question ID = 2031][Question Description = S2_qSNz_PG_GP20_Q11]
1. Legality/dear [Option ID = 8121]

2. Manipulation/gdz [Option ID = 8122]

3. Logic/aasam [Option ID = 8123]

4. Authority/3rr [Option ID = 8124]

Correct Answer :-
® |egality/dear [Option ID = 8121]

7) Which of the following reliability techniques are used in qualitative research?
A. Diachronic reliability

B. Quixotic reliability

C. Synchronic reliability

D. Holsti's constant

E. Chronbach's alpha

Choose the correct answer from the options given below:

foratfeiRaa 3 A ®lat - 3l fRra=rar awoilal @1 YRileT JJuicas 9iter 3 fovam sirar 3 ?
A. oropiie frarTeia

B. srm@siiyes feraroiizar

C. voolferd fRrartefiziar

D. 3ics&l &I 3rR

E. @ferdr® @1 3rew1

il fou s1u freseul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 2032][Question Description = S2_qSNz_PG_GP20_Q12]

. A, Band C only/asaet A, B siiz C [Option ID = 8125]
. B, Cand D only/daer B, C iz D [Option ID = 8126]
. C,DandE only/aae C, D siz E [Option ID = 8127]
. A, Cand E only/aaea A, C iz E [Option ID = 8128]

A W N -

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 8125]

8) Which of the following are the essential characteristics of the case study method?
A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:



forgotferRaa 3 A Blor-A da-3reaa fafer b siforart fadraam 3 ?
A. SToRICHD DI 3R IohgH

B. Freca 3ot i 3k Soqa

C. fafdrscarardt

D. auioicas

E. smpReicas

il fou o1 fraseul 3 3 A IR BI TIoT HIfSIE :

[Question ID = 2033][Question Description = S2_qSNz_PG_GP20_Q13]

1. A, B and C only/dsaet A, B siiz C [Option ID = 8129]
2. B, C and D only/dsae B, C siiz D [Option ID = 8130]
3. C, Dand E only/daa C, D iz E [Option ID = 8131]
4. A, B and E only/aact A, B 3iiz E [Option ID = 8132]

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 8129]

9) Given below are two statements
Statement I: Qualitative research is impressionistic and subjective.
Statement II: Quantitative research has a higher level of possibility of generalising the findings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@erel - | @ JUIeHT 9fter YuIaardt siiz fersriforss aiar 3

@erel - || : uf¥amncaes ofter & Jucifeerdl Bl ARG Bt H Icaar Faz &I Hsiraen aidt 3
SWRRD Doll D Al A, oA Y a1¢ frwedl 3 A JE a2 @I @il DI :

[Question ID = 2034][Question Description = S2_qSNz_PG_GP20_Q14]

Both Statement | and Statement Il are true/erer | 3z |1 Sloll 31 8 [Option ID = 8133]

Both Statement | and Statement Il are false/@serwr | 3z || Sloif spicer & [Option ID = 8134]
Statement | is true but Statement Il is false/@emer | 31 8, fboq et |l srRir & [Option ID = 8135]
Statement | is false but Statement Il is true/wmemwr | sRic 8, fboq ®err || A= & [Option ID = 8136]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/emr | aiz | gloif a1 & [Option ID = 8133]

10) Match List | with List Il

List | List Il

Scale Characteristics

A. Arbitrary Scale I. Attitude statements are decided by judges

B. Thurstone Scale Il. Summated ratings

C. Likert Scale lll. Consists of seven spaces between two bipolar adjectives|
D. Semantic differential |IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 il

(smoroit) (ferorerem)

A. srees amuefl ||, sifSrgfer sifSroerell @1 foroRn fSroiamsvil grr e sirar 3
B. erxclol amuott [l Framesfera oife - forerizor

C. ferend amuoht  |lll. 336t &1 fgeydia faorovil & dia Ara siarrc aid 3

D. orscref fadica (IV. gusll T aRIel YeTopifdds e aiar &

ofid fou o1 fweal & A wE IR g :

[Question ID = 2035][Question Description = S2_qSNz_PG_GP20_Q15]

A-1,B-1l,C-1ll, D - IV [Option ID = 8137]
A-1V,B-1,C-1I,D- lll [Option ID = 8138]
A-1I,B-1V,C-1,D- Il [Option ID = 8139]
A-11,B-1II,C-1V, D - | [Option ID = 8140]

A W N -



Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 8137]

11) Media kits are used in

i3 fopel (3maga avqail) oI YT fepie aiar 8 ?
[Question ID = 2036][Question Description = S2_qSNz_PG_GP20_Q16]

1. Confidential communication/siusfir 2iquur [Option ID = 8141]
2. Internal communication/stiaf¥® 2iguur [Option ID = 8142]

3. Classroom communication/@sem 3guur [Option ID = 8143]

4. External communication/adrer 2wt [Option ID = 8144]

Correct Answer :-
e Confidential communication/shusfler 2iwur [Option ID = 8141]

12) Non-verbal communication makes use of-
A. Behaviour to generate meanings

B. Emotional meanings

C. A non-clear system of rules

D. Verbal finessé

E. Clarity in abstraction

Choose the correct answer from the options given below:

sronfece AYHUT fpormT gRieT w2r & ?

A. 3ref Icucel @l D e RasrR

B. siacticores 3ref

C. formil &t 31z - Fusc yyredt

D. onfécm wierer

E. 1= spgur 3 Juscar

il fou s1u frapeul 3 A W IR BT a6l HIfSIE ©

[Question ID = 2037][Question Description = S2_qSNz_PG_GP20_Q17]

. A, Band Conly/@ae A, B siiz C [Option ID = 8145]
. B, Cand D only/aqe B, C siiz D [Option ID = 8146]
. C, D and E only/@ae C, D siz E [Option ID = 8147]
. A, B and E only/dac A, B siiz E [Option ID = 8148]

A WN -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8145]

13) A competent communicator is
A. Culturally neutral

B. Culturally sensitive

C. Totally ethical

D. Situationally ethical

E. An effective listener

Choose the correct answer from the options given below:

ST AYHD TRIT BT & 7

A. Airoia® wU A aca

B. srir@fere wu A dgorofia

C. yofaen sifere

D. Refer @ soRIR diferd

E. v ot ofiar

il fou o1 freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2038][Question Description = S2_qgSNz_PG_GP20_Q18]



1. A, B and C only/daer A, B siiz C [Option ID = 8149]
2. B, C and D only/dae B, C siiz D [Option ID = 8150]
3. B, Cand E only/@aa B, C siiz E [Option ID = 8151]
4. C, D and E only/a@ae C, D siiz E [Option ID = 8152]

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 8149]

14) Information provided before sending the primary message is known as

yrefdres Hor Astol A uscl &1 Sirel drefl JTI6l ®Y D 3 -

[Question ID = 2039][Question Description = S2_qSNz_PG_GP20_Q19]
1. Intro/ufe= [Option ID = 8153]

2. Indicator/zid>aas [Option ID = 8154]

3. Pre-message/uqd - 3icger [Option ID = 8155]

4. Feed forward/smy gftc ($Is wizas) [Option ID = 8156]

Correct Answer :-
® Intro/ufscrr [Option ID = 8153]

15) Given below are two statements
Statement I: People use non-verbal cues more than verbal cues.
Statement II: Non-verbal cues have better believability than spoken words.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@2l - | ; T onfeca Fddl A 3R srenfogd ADAN BT YRileT B 3

@l - |l : srenfégam Fiddor A arfra oreci bl Mg dadar fraolirar il 3
JURITP el @ 3MIeiid 3, ofidl fGu s1u faraseul 3 A AE A= B1 wIol HifStw &
[Question ID = 2040][Question Description = S2_qSNz_PG_GP20_Q20]

Both Statement | and Statement Il are true/oest | 3 |l Gi6il A1 & [Option ID = 8157]

Both Statement | and Statement Il are false/@emr | 3iiz |1 Gloil 3Rt & [Option ID = 8158]
Statement | is true but Statement Il is false/@emel | a1 8, fpoq @eret |l sRIcr & [Option ID = 8159]
Statement | is false but Statement Il is true/memwr | sRica 8, fboq ®ewer || 3= & [Option ID = 8160]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | aiz |l gloif a1 & [Option ID = 8157]

16) What number should replace the question mark(?)?

3529, 64, 9817, 115, 3257, ?

fopa Jizn @& gRI Yssiila o yzenfid fosan sionm anfde ?
35, 29, 64, 98, 17, 115, 3257, ?
[Question ID = 2041][Question Description = S2_qSNz_PG_GP20_Q21]

126/126 [Option ID = 8161]
89/89 [Option ID = 8162]
98/98 [Option ID = 8163]
146/146 [Option ID = 8164]

A W N -

Correct Answer :-
® 126/126 [Option ID = 8161]

17) A man weighs 75% of his own weight plus 39 |lbs. How much does he weigh?

Ub ftp I aslol, 3ol ¥a= @ dslol ®I 75% 3z 39 ukus & @I ardfdd dslol Il & ?

[Question ID = 2042][Question Description = S2_qSNz_PG_GP20_Q22]
165 Ibs/ 165 uus [Option ID = 8165]
160 lbs/ 160 ukus [Option ID = 8166]
156 lbs/156 urus [Option ID = 8167]
166 Ibs/ 166 uvs [Option ID = 8168]

A W N -

Correct Answer :-
e 165 lbs/165 uvus [Option ID = 8165]



18) Ravi's salary is increased by 20%. On the increased salary, the tax rate is 10% higher. The percentage increase in tax
liability is

fer b1 Aot 20% daT & SR a6 38 ddlol UR 2 DI 62 10% 16t it 3 2 saar 3 yferora gfy 3 :

[Question ID = 2043][Question Description = S2_qSNz_PG_GP20_Q23]
20 %/20% [Option ID = 8169]
22 %/22% [Option ID = 8170]
23 %/23% [Option ID = 8171]
24 %/24% [Option ID = 8172]

A W N -

Correct Answer :-
® 20 %/20% [Option ID = 8169]

19) Given below are two statements
Statement I: A 60 m long train passes a 90 m platform in 10 seconds. The speed of the train is 45 km/hour.

Statement Il: If the ratio of the speeds of A and B is a:b, then the ratio of the time taken by them to cover the same
distance is a:b.

In light of the above statements, choose the correct answer from the options given below

ofil &1 werer Ru are 3 :

el - | : v 60 sfice cdl Ieenst v 90 i wiewisd B 10 ABS 3 uR B2 aar & Ieenst &I arer 45 ol / e &
@ - |l : A 3fiz B &l aret &1 siglurd a : b §; al 361 SRI M3T6T g3t kI Dol D fore, e s[e PRI wI sigfurd a : b 3
SURID Peoil D 3Iclidb #, ofld U s1v famcul 3 A Jd IR I I Bt -

[Question ID = 2044][Question Description = S2_qSNz_PG_GP20_Q24]

Both Statement | and Statement Il are true/wmeret | 3 || Gloil =1 & [Option ID = 8173]

Both Statement | and Statement Il are false/@merer | 3iiz |1 @loil i 3 [Option ID = 8174]
Statement | is true but Statement Il is false/®epol | 311 &, fpoq el |l sRI=r & [Option ID = 8175]
Statement | is false but Statement Il is true/epermel | 3R 8, fboq @eret |l 31 & [Option ID = 8176]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are true/@sermr | aiz |l Sloif 31 & [Option ID = 8173]

20) Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of simple interest is 12%.

C. 1000 will become ¥1331 in 3 years at compound interest rate of 10% per annum.

Which of the above statements is/are CORRECT?

foraifeiRaa werell wr frar Hifsru :

A. 5% a1emRvt &St bt 52 wr, e forfdra afdr 15 auf 3 goroft 2 sieft 3

B. wop 1fdr 10 adf 3 gorell A siredl 3 AreRvr &iarst &I arftfes g3 12% 3

C. difer aqut & ¥1000, 1331 2 sween, 10% Arcton aiftfes aagly st &of 52 a=
il fou o1 fraseul 3 3 I IR BT w6l HIfSIE :

[Question ID = 2045][Question Description = S2_qSNz_PG_GP20_Q25]

. Conly/a@ae C [Option ID = 8177]

. Aand C only/daer A siiz C [Option ID = 8178]
. B and C only/@aet B aiiz C [Option ID = 8179]
. A and B only/@act A 3iiz B [Option ID = 8180]

A W N -

Correct Answer :-
e Conly/@aa C [Option ID = 8177]

21) Match List | with List Il

Consider the following in the context of the Square of Opposition of Propositions

List | List Il

Propositions Square of Opposition

A. If 'A" is False I. 'A" and 'I' are False

B. If 'E' is True Il. 'E' is False; 'l' is True




C. If 'I' is False Ill. 'E' and 'O’ are True
D. If 'O"is True IV. 'E' and 'I' are Undetermined
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

et -1 et -l

A. PR A’ 3sIca 3 . 'A" 3R 'I' sRaeaa &

B. seR 'E' sraca Il. 'E'sraca 3; 'I' aca 3
C. 3R 'I' staca 3 Il. 'E' 3iiz 'O’ Iaca &

D. serR 'O s1ca 3 IV. 'E' siiz 'I' siforerffyea 3

ofla fou o1 frseul 3 ¥ A IR gforw ©
[Question ID = 2046][Question Description = S2_qSNz_PG_GP20_Q26]

A-1,B-1l,C-1ll,D- IV [Option ID = 8181]
A-11,B-1II, C-1V, D - | [Option ID = 8182]
A-1I,B-1,C-1II,D- IV [Option ID = 8183]
A-1V,B-1,C-1ll, D - Il [Option ID = 8184]

A W N -

Correct Answer :-
® A-I,B-Il,C-Ill,D-IV[Option ID = 8181]

22) Name the fallacy committed in the argument
All dogs are mammals.

No cats are dogs.

Therefore, no cats are mammals.

Choose the correct answer from the options given below

ac d 3carHRI oI o ferd :

Aeft oA Feorendt 3 3

DI$ freetl @ar oél 3

3re1: oFE foreett Facrems) o8t 3

[Question ID = 2047][Question Description = S2_qSNz_PG_GP20_Q27]

Illicit Major/arder 2mer [Option ID = 8185]

Illicit Minor/srder ust [Option ID = 8186]

Undistributed Middle/sifsnfera 3g [Option ID = 8187]
Existential Fallacy/si3araarct acamsit [Option ID = 8188]

A W N -

Correct Answer :-
o |llicit Major/s@er ameer [Option ID = 8185]

23) From the options given below, pick the CORRECT sequence in the context of constituent parts of inference

213l e Uit @1 TRIGl, oISl B JHEred 39l B Aol I B3 -

[Question ID = 2048][Question Description = S2_qSNz_PG_GP20_Q28]

1. Hetu, Udaharana, Nigamana, Upanaya, Pratijfia/aq, 3cmevl, fopmre, 3usrr, yfersn [Option ID = 8189]
2. Nigamana, Hetu, Udaharana, Upanaya, Pratijha/foewiel, 3q, 3ee2vl, 3usrl, gferst [Option ID = 8190]
3. Pratijha, Hetu, Upanaya, Udaharana, Nigamana/yfersir, &q, 3usrI, 3e1s2ul, foprrel [Option ID = 8191]
4. Pratijha, Hetu, Udaharana, Upanaya, Nigamana/yferst, &d, 3c1e2vl, 3uerl, foewier [Option ID = 8192]

Correct Answer :-
e Hetu, Udaharana, Nigamana, Upanaya, Pratijia/ag, 3cre2v1, fomwiel, 3usrI, yfersn [Option ID = 8189]

24) Match List | with List Il

List | List Il

/A. Samanyalaksana I. Intuitive perception of all objects- past, distant and future due to supernormal powers
Pratyaksa generated by meditation

B. JAana Il. When objects are not actually present to sense but are conveyed to it through a special
Laksana Pratyaksa medium

C. Yogaj Pratyaksa lll. Perception of an object which is in contact with sense through previous knowledge of itself
D. Alaukika Pratyaksa IV. The perception of a whole class of objects through a generic property

Choose the correct answer from the options given below:



&t -l @1 3R -1l F gk Hifdw

et | eh -1l
A |. earet A 3Icuool sMf2RIATGA oIfRpAl @ RUT Asfl ucraf @ 3,
RATITGRICTISIT . .
G Ud AT DI 3f6eT: YSIsiod YAl 3l &
eIt
B. siret cigtvr ||l. S/ ugref ardaa 3 sfogal g IulFe o8l 8l afce uap a9
a8t FATEAH D GRI Ydd sl
C. eTst lll. fp=ft ucref @1 yraghiarur Sl sfogal @ Aud 3 8, s yd -
st SIlol D GIRI
3;&%[ IV. ucreit & w31] st @1 geaaghiaszor, sufer o amezer A
(g

offa fou o1 frpeul 3 3 A I gforw ¢
[Question ID = 2049][Question Description = S2_qSNz_PG_GP20_Q29]

1. A-1l,B-1,C-1ll, D - IV [Option ID = 8193]
2. A-1,B-1ll,C-1l,D- IV [Option ID = 8194]
3. A-1V,B-1ll,C-1,D - Il [Option ID = 8195]
4. A-1I,B-1l,C-1,D- IV [Option ID = 8196]

Correct Answer :-
® A-Il,B-1,C-IlIl,D- IV [Option ID = 8193]

25) The example ‘'sound is eternal because it is caused' represents which of the following Hetvabhasa

‘orec/ eafor forea &, arIifep A oo b I & ' A8 31821, forgoiferRad 3 fop=1 dcamiea A Jdag 3 ?

[Question ID = 2050][Question Description = S2_qSNz_PG_GP20_Q30]
1. Ashrayasiddha/sngruRrg [Option ID = 8197]

2. Svarupasiddha/zawuf¥tg [Option ID = 8198]

3. Viruddha/fasg [Option ID = 8199]

4. Kalatita/wrerredia [Option ID = 8200]

Correct Answer :-
e Ashrayasiddha/smepnftg [Option ID = 8197]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A good computer networking solution can be very much beneficial for your business.
Reason R: With computer networking, you can cut back on costs and allow for efficient use of resources.

In light of the above statements, choose the correct answer from the options given below

il 3l erel fRu 1w 3@ uab sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & w4 3 :
siffrperet (A) @ UD 3BT BIRIC? oledfdssT Hicrel MUd ATUR @ forg siferemicrId 8 Addr 3

@RI (R) : BRIC? sledfdPsT & AT, T SIPK BH B2 AD 3 3R FATEGI D Geleurcd JRIPT B2 ADA 8
IWRITD Bl D ATl 3, ofid Ru el 3 2 7 R b1 ™I Hifse ¢

[Question ID = 2051][Question Description = S2_qSNz_PG_GP20_Q31]

Both A and R are true and R is the correct explanation of A/(A) iz (R) g¥ail 31 8 3z (R), (A) &6t 31& e 8 [Option ID = 8201]

Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clell 3 & o (R), (A) &t 3 waren oidt & [Option ID = 8202]
A is true but R is false/(A) 3= 8, wog (R) sricx & [Option ID = 8203]

A is false but R is true/(A) sri &, wog (R) a=x & [Option ID = 8204]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 31 2 3iR (R), (A) &t 38t =mezn 3 [Option ID = 8201]

27) Arrange the following optical storage devices in increasing order of their storage capacity.
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below:

forgatifepe siiftcaper 3iSRUI/ U cib2uT UMVl DY Iolbl $IUSIRUT ST D dGa Bl A Iafderd HifSig
A. 43t
B. 3.3 - sme.3iludL



C.sg- 3
oifd fu s1u farpeul 3 A 2 IR DI R DI
[Question ID = 2052][Question Description = S2_qSNz_PG_GP20_Q32]

A, B, C/A, B, C [Option ID = 8205]
B, A, C/B, A, C [Option ID = 8206]
A, C, B/A, C, B [Option ID = 8207]
B, C, A/B, C, A [Option ID = 8208]

A W N -

Correct Answer :-
e A, B, C/A, B, C [Option ID = 8205]

28) Given below are two statements
Statement I: Tablet computers have touch screens.
Statement II: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer from the options given below

ofiI 31 Dot Ru sme 3 :

werel - | : Tacic BIRI! D uRI ca Fajiel aidr 3

el - |l : v Tacie derIe # HES diar &

SWRRD Dol D Il A, oA Y a1g frwedl 3 A 38 a2 @I @il HIFM :
[Question ID = 2053][Question Description = S2_qSNz_PG_GP20_Q33]

Both Statement | and Statement Il are true/@erm | 3z || Sieit 2ier & [Option ID = 8209]

Both Statement | and Statement Il are false/@erwr | 3iiz || Sloif i1 & [Option ID = 8210]
Statement | is true but Statement Il is false/@emerl | 311 @ , fboq @eret |l sricr & [Option ID = 8211]
Statement | is false but Statement Il is true/memwr | sRic &, fboq ®emwer || A= & [Option ID = 8212]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@ermr | 3iR 1l Gleil 31 & [Option ID = 8209]

29) Which of the following statements about desktop and laptop computers are TRUE?
A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse

Choose the correct answer from the options given below:

3¥eiu 3R duciu Barie: & an 3 fowetifica weril 3 Bl Jca 3 ?

A. aftroaz smegford dudiu weric: 3 Ad - D usd A PN F3;T BT 3

B. 3¥a¢iu waRIc aad 3ife FUTGIIaRUT - ANseT ofdl B 3

C. o0t 3¥apiiu wewyed 3 fdee - 3ol ca - Us alar 3

D. dudiu waricat &t srgfef A & AT Tga & wa ulRaferl i i 3

il feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 2054][Question Description = S2_qSNz_PG_GP20_Q34]

A, B and C only/dact A, B siiz C [Option ID = 8213]
A, B and D only/dact A, B siiz D [Option ID = 8214]
B, C and D only/a@act B, C siiz D [Option ID = 8215]
A, B, C and D/A, B, C siiz D [Option ID = 8216]

A w N =

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 8213]

30) Match List | with List Il

List | List Il
(Computer Terms) (Examples)
A. Operating system I. Pentium
B. Application software Il. Linux

C. Processor lll. Router




|D. Network Device IV. Anti-virus
Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 Rxeh -1l
(PFge? us) (3c13201)

A. siffést Breea |. afoczrar

B. uftcradorer diucdrz Il. cizora1

C. QR lll. e

D. dica® Sarsa IV, 3¢ - arsza

ofla fou s1e frseul 3 3 A8 IR gfor ©
[Question ID = 2055][Question Description = S2_qSNz_PG_GP20_Q35]

A-1,B-1V,C-1l,D - lll [Option ID = 8217]
A-11,B-1V,C-1,D - lll [Option ID = 8218]
A-11,B-1V, C-1ll, D - | [Option ID = 8219]
A-11,B-11,C-1,D- IV [Option ID = 8220]

A W N -

Correct Answer :-
® A-I,B-1IV,C-Il,D-Ill [Option ID = 8217]

31) If the wind speeds increase from 4.0 m/s to 5.0 m/s, the power output from an ideal windmill will increase by a factor
of about

afe uaot bt a1fer 4.0 3. / A A ge@= 5.0 M/ 31 SIedl 3, Al v 3Gl uae aadl A Yrd il drel fag[d Iculgal 3 ceneI fdbdel @ JUIdb A
gfg aptt ?

[Question ID = 2056][Question Description = S2_qSNz_PG_GP20_Q36]
1. ~2/..,2 [Option ID = 8221]
2. ~3/..3[Option ID = 8222]
3. 4/ ._4 [Option ID = 8223]

4. ..5/,5 [Option ID = 8224]

Correct Answer :-
e . 2/..2[Option ID = 8221]

32) In which year did the first commitment period of the Kyoto Protocol come to an end?

TR QABIT B usdl Yferagdr it i 3id st ad 3 g ?

[Question ID = 2057][Question Description = S2_qSNz_PG_GP20_Q37]
2011/2011 [Option ID = 8225]
2012/2012 [Option ID = 8226]
2014/2014 [Option ID = 8227]

. 2008/2008 [Option ID = 8228]

A W N =

Correct Answer :-
e 2011/2011 [Option ID = 8225]

33) Match List | with List Il

List | List Il

Disease Mode of spread

A. Cholera I. Lack of water to maintain cleanliness

B. Trachoma Il. Involves water contact but not ingestion
C. Schistosomiasis Ill. Ingestion of polluted water

D. Dengue IV. Requires host

Choose the correct answer from the options given below:

et -1 B e -1l A @ Hife

et -1 et -1l

) (g @1 astor)

A. 3sr |. Tacoal ¥ae & fere Sia @1 3pma

B. a1 (Sprem) I1. 3213 SicT A 3HUas AT & Uz JAcfEUT orst
C. RrANRrnRa I11. ygfre sict @1 sicfeor




D. 31 IV. ueddt 6 sagaearn Aidt 3 |
il fou s1e fyseul 3 ¥ A8 IR o ©

[Question ID = 2058][Question Description = S2_qSNz_PG_GP20_Q38]

A-11,B -1, C-1V, D - | [Option ID = 8229]
A-1ll,B-1,C-1V, D - Il [Option ID = 8230]
A-1ll,B-1,C-1l,D- IV [Option ID = 8231]
A-1,B-1ll,C-1l,D- IV [Option ID = 8232]

A W N -

Correct Answer :-
e A-Il,B-1ll,C-1V,D-|[Option ID = 8229]

34) Which one of the following Sustainable Development Goals (SDGs) is related to sustainable consumption and production
patterns?

forgoiferRaa 3 2 Dl - A1 ARvik PR aga (v 3t sit) Aemrviia Jusiet iR Scurce @ wu 3 JEfea 3 ?
[Question ID = 2059][Question Description = S2_qSNz_PG_GP20_Q39]

1. SDG 9/war <t it 9 [Option ID = 8233]
2. SDG 10/ua i sit 10 [Option ID = 8234]
3. SDG 11/wa < sit 11 [Option ID = 8235]
4. SDG 12/var <t sit 12 [Option ID = 8236]

Correct Answer :-
e SDG 9/wa st st 9 [Option ID = 8233]

35) What fraction (%) of the total primary energy used in India is derived from biomass?

811l 31 YRIISI <bl Sirol areil el YraIfdras Issif @l dlol - AT 33211 (%) Sia=dsiea (arRN3IRT) A cusdl aidr & ?

[Question ID = 2060][Question Description = S2_qSNz_PG_GP20_Q40]
1. ~32%/~ 32% [Option ID = 8237]
2. ~42%/~ 42% [Option ID = 8238]
3. ~56%/~ 56% [Option ID = 8239]
4. ~22%/~ 22% [Option ID = 8240]

Correct Answer :-
o ~32%/~ 32% [Option ID = 8237]

36) What does NIRF stand for?

wol 311 3R U6 (NIRF) @ gl 3u a=r 3 ?

[Question ID = 2061][Question Description = S2_qSNz_PG_GP20_Q41]

1. National Institute of Ranking Federation/sigreict sRBecie sifw 3fcber wsomer [Option ID = 8241]
2. National Institute of Ranking Framework/storeret sRecze sif 3fepsr waraas [Option ID = 8242]
3. National Institutional Ranking Framework/sigretet sRecrigrore 3epel Barawm [Option ID = 8243]
4. National Institutional Ranking Federation/steretct sReczgreret 3epst ol [Option ID = 8244]

Correct Answer :-
e National Institute of Ranking Federation/slgreret sReczic sifw 3fdper wserer [Option ID = 8241]

37) The term ‘open learning' represent approaches that focus on

A. Opening access to education and training provision

B. Freeing learners from the constraints of time and place

C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and groups of learners
E. Making students free from any educational loads

Choose the correct answer from the options given below:

forFaiferRaa 3 31 Rpotur &arer BfEA w201 aret JuPEll B! 'Heb ARPREI (3iua afofor) orss gorfar 3 ?
A. 1311 a gforgur @& graeiel @I ugd 3 clioll

B. 3 iz Ferrer &t Alaarsil A forgniRhil @) b won

C. foafi fafdrse urgRrerat @ ot sifeere siiR FeAiwst

D. cafepal siiz forgmell gl @I ercdicl if2ere /AR Yglol well



E. fp=fl 9iféres s 3 RrenfRif @ #d dwon
offc feu sru el 3 2 AL IR D1 WRIel B :
[Question ID = 2062][Question Description = S2_qSNz_PG_GP20_Q42]

A, B and C only/asaet A, B aiiz C [Option ID = 8245]
A, B and D only/d@act A , B 3iiz D [Option ID = 8246]
A, B and E only/@aet A, B 3iiz E [Option ID = 8247]
B, C and D only/a@aet B, C siiz D [Option ID = 8248]

A W N -

Correct Answer :-
® A, Band C only/aaet A, B 3iiz C [Option ID = 8245]

38) In CBCS, Ability Enhancement Courses are of two kinds. They are:
A. Ability Enhancement Compulsory Courses

B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:

CBCS 3 Answrer daekel uigaaa A YyoR D ald & d 3 :

A. Auar Hatlor siforart urgaaan

B. wlorer Hatlor siforart urgaraya

C. dsar Haela dofeuas urgaams

D. wlore JHatler Jpfeus urgeaat

E. wlora Haslor urgaaps

ofi o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 2063][Question Description = S2_qSNz_PG_GP20_Q43]

. A and B only/a@aet A siiz B [Option ID = 8249]
. A and C only/aaet A siiz C [Option ID = 8250]
. Aand D only/a@aet A siiz D [Option ID = 8251]
. A and E only/adact A siiz E [Option ID = 8252]

A W N -

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 8249]

39) Which of the following is a private university?

forgsiferRae 3 3 wlel -1 forsil feraferemerr 8 ?

[Question ID = 2064][Question Description = S2_qSNz_PG_GP20_Q44]
1. Anna University/sieor faeafdenerr [Option ID = 8253]

2. BITS pilani/fdcat (BITS) fiemsft [Option ID = 8254]

3. Burdwan University/«caret faeafenerr [Option ID = 8255]

4. IlIT/3ms ams ams & (111T) [Option ID = 8256]

Correct Answer :-
® Anna University/sfoon faafdererr [Option ID = 8253]

40) India has been attracting only a fraction of international students because of
A. Lack of residential accommodation for foreign students

B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below

e 3 fpa BRI aga o sicRred faremeff smea 33 3 ?
A. faoft Bl & fore smarikr Jfaen o spma
B. sicazrceRI Alsaar ol AToRIAT Yglol ol 3 dfdolrsar



C. 31611 ga9r yfipm

D. forgrpl & 318 @I 3@

E. fRenffl 3 3cme @1 spma

ofid o s1u fweal # A A8 IR BT <RIl BT :

[Question ID = 2065][Question Description = S2_qSNz_PG_GP20_Q45]

A and B only/d>qet A siiz B [Option ID = 8257]
B and C only/@aet B siiz C [Option ID = 8258]
C and D only/aaet C 3fiz D [Option ID = 8259]
D and E only/dsaer D siiz E [Option ID = 8260]

A wWw N -

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 8257]

Topic:- GP_25NOV_SH2_C

1) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of ‘loss of night." We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

ofia feu srerior ol eamoyde uféu :

onermalisii d uvw AP SRI R’IPRIA v dAfad go1r Yguvl ARG R off eell, wermdr ik Jorcs @1 sRa @ i aiffre gorer yguvr
arct PRI 3 WM SR & 3R &3l YebI91 Yguvl bl e1edl e & yfer a3l Sirelr aifde of dac fSRIP! Adel @ fo1u 331 oo JIRT &2 38 3
dfes PSRRI &3 36IHST ol & YDdI9I YgHUT DI dIcuRl Didd J1@1 oIl - Il @ SlfolPRE YU A 3 SHics DIcE d1el Ybr9l - =Iazen o
TAYADAT ASDI UR IR dGlol D fe1u I¢]c crscl @ wU 3 Bkl 3 3R Az 331 3R I Ugol d DI Dol I ASRIAT Dl 3, 3IcT D B GIKDI A
af¥ydifft, ydluel, yar scaife @ fore s3aeT yAler @ Il a6 RI 3, RRIRY YbI9l YgHul &l I 3cuodl aidl 3 31eerI6il 3 ¥l @l fierar 3
o5 20 auf &l safer 3 g e 3 aed anscl A g Jlol aredl Sy 9 ¢ - ¢ gfis 3Kl o 3, Rl o1f Recll, Acieten, RIS, wotlcd iz
Saz gger i 1993 A 2013 & dia "srcaffr gguvr digar” iy ot o1 Grerch 3

At GiePT AT Yab191 - Iazer A of dddl Al D IR UR dfcs ug) - ufdril iz HIdt & Farea wR iR saR wiiarer uz off ¢
SIfolbIRD Yarrd B 3 Afe) D1 BiJer crsel o PRI A 3R D 3R ugrs @ e ficral arar gt & gfy 2kt 3 uig sad Tea "Aafy - g’ bt
AT ool Bl 3 S ASDI Dl Issacidl BT FAR TRI A Yd9I BT 3 dl 4 ollc 3MTol 3 DfSols Bl 3 AR foIgT - SIPRUI TRI UR $ADT YHIA
usdl 3, SRIPT 331l AGIGISII d TARL U= il P US ADdl & dPll ®I Ylusl a9l3il 3iiz dbicl ol oft ganfaa wear & yapror yguur A
Jafferes sifor Afeer Gt iz ufdril @ 8t 3 @16 363 Goyyfdra @2 Sar 3 31 IoId Yslolol I 3R BelRaeU 3ol SRR b1 YHIfId Bl 3

The light pollution map is related to adverse effects of
g1l YgHul Areifrg fepaads gferayer yoimal 3 ddfera 3 ?

[Question ID = 2066][Question Description = S2_qSNz_PG_GP20_Q46]
1. Sunlight/ 3t @t yaster [Option ID = 8261]

2. Outdoor artificial light/arer ofepr yeprer [Option ID = 8262]

3. Urban electricity projects/ st fegja uf¥eiisioms [Option ID = 8263]

4. Rural electricity projects/syefiur figga ufRisions [Option ID = 8264]

Correct Answer :-
e Sunlight/3rf @1 yprar [Option ID = 8261]

2) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads



and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night." We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

oIl f¢u arerior ol eareyde uféu :

oNermalsii & vm AP FRI f[ApRIa v dfad go1or Yguul Ay SRI off [ecil, wermdr iz dorcs @l 1Ra @ il J@iffrm gyowrer yguur
drcl oPRI 3 WM SR & $R1 &3 YPI9I YGUUI i PIREI AT D Yfel A &l SIiol dIfdu of dde fSRIP]I Aol @ 18 3H 19101 JART B2 3 8
qfed RPRRI & 3M6ifest 81T & Y19l YgHUl ol dlcuRl il S1@T Y19l - RIGeAUT @ SIfIdR® Y3IId A & Sdfcd DicpEl a1@1 Y19l - RIaeAl bl
MAYABAT ASDI U2 &M dGTol D 1w Féke ezl @ U 3 2l 3 3iiR A 33l 3R 3 Ugol d P Bl 3 ASRIAI Dl 3, BT D TO GIDI 3
afydifft, ydlua, gar scnfe & 1o 31T YRIPT &% el a6 RI 3, SRR YabIer Yguul &l J3RA1 3cusd akddl 3 31erI6il 3 S0 a1 Brerar 3
o5 20 auf &6t srafer 3 g sea 3 e arscl A gt Aol arcdl S 3 ¢ - ¢ gfig 3l o1 3, Rl o1f Recll, Acisten, BRI, wotfed iz
IR ggor i 1993 34 2013 & dfa "srcafires geuvr digar” gfig 3o @1 frerdl 3

rcAferer GiePr d1@1 Yb19l - az el A of dadl AR D IR UR dfcd ug) - ufdril iz HIdl & Farea wr iR saR wifaur Uz ff &
SIforpRe Yarrd B & i) B G arsel o YRIeT A 3R o 3R Ugrs @ fore firerer arar gt & afy aiclt 3 uig saad aad "afey - da’ bt
IR Icool Bl 3 S ASDI DI Isodcidl DI AR HRI d JdoI Il & dl 3dl oflG 3Tol 3 DISIS Bicll & FHAR foIgl - SIPRUT ¢RI U= 33BT PRI
usdr 8, RrRI®! sarsl HAellconsii a Fared uz ik Yeira us Addr 3 9Pl oI yéiuel u9ail 3iiz BIcl @1 off ysnfaa oar 3 yaror yguur A

One of the major pollutants is in the form of
U YgRda Y19l YgHd fp3T U 3 STat ol fireran & ?

[Question ID = 2067][Question Description = S2_qSNz_PG_GP20_Q47]
Indoor lights/sigz &t emsé [Option ID = 8265]

Street lights/3rs® &t ense [Option ID = 8266]

Home lights/@= &t ems¢ [Option ID = 8267]

Illuminated advertising/ydta garz [Option ID = 8268]

A WN =

Correct Answer :-
e |ndoor lights/sigz i emse [Option ID = 8265]

3) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night." We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

ofid fu srerior @I eAaegdd ufeu ©

oNermalsii & vw AP FRI f[APRIA o> dfad go1or Yguur Alifig $RI off [eel, wermdr iz dorcs @l 1Ra @ «ilol J@iffrm gyowrer yguur
drcl oPRI 3 M1 SR & 3R 83 YD1l YgUUI Ol PIRH HIR-IT @ Yfel A 3l SITel aIfdT of ddcl SRIPI Aol @ 18 &3 oleIvI YRIRT B2 W 3
qfed PSRRI a3 IM6IST 31T & YapIol YgHUT ol dlcuRi Dicl S1@T Y9l - RIGAUT B SIIPR® Y3IId A & SIdic Dicpl dI@T YdbI9l - RIaeAl DI
TAADAT ASDI UR ARG dGlol D fe1u ke cnsel @ wU 3 Bl 3 3R Az 331 3R I UGol d DI Dol I ASRIAT Dl 3, BIc D BB GIDI I
afydifft, ydluar, yar scnfe @ 1o 31T YRIPT ¢ Iol a6 KM 3, SRR YwbIor Yguul &bl AIRAT 3cusd akdl 3 31erI6il 3 S0l @1 Brcrar 3
o5 20 auif &6l srafer 3 g aed 3 aed anscl A g Aol arcdl S 3 ¢ - ¢ gfig 3l o1 3, Rl of Recll, Acisten, BRI, woifed iz
Saz ggerd 1993 A 2013 o & "srcaffre gguvr digar” afy; 2ot @1 Brercht 3

AR DI JI_T YdI9l - RMazelr A of ddcl ARl D FARLT WR dicd ugl - ufdril iz bl D Fareda wr iR saAR wiiaur u? it of



BIfSIPR® Y 3l & Afe)] Bl DfJer ezl o GRIST A AR BHI IR UG @ feru frcro! ara =@l 3 gfy Al 3 uq =1 aera "afe) - e’ &t
IRAT IcUool Bicll 3 ST ASDI bl Issactdl DI SR TRI 3 JA9I Bl & dl i ofiG 3ol d DISols Bkl 8 AR fOIGI - SIPIRUI TRI UR $ADI P
usdr 3, f3ra®I sARl HAsilgoIsll a Fared Uz anik yura us Addl & dell @I Ydiuor ugLsil sz BbIct @l sif ysufda mar 3 ymrer yguur A

Light pollution intensity refers to
Y191 Yguul cfigar ot darcuRt il 3 ?

[Question ID = 2068][Question Description = S2_qSNz_PG_GP20_Q48]

1. Increased outdoor brightness during night time/fef @ wrr a¢t g€ arar <ifer [Option ID = 8269]

2. Manifold hike in use of electricity in rural areas/syefiur giqi 3 fersicft & geier 3t @3 spen gfi [Option ID = 8270]
3. Use of artificial light for road safety/s@ JRen @ fere @fcpr arse @ giisr [Option ID = 8271]

4. More and more use of electricity in urban areas/ 9 8iqi 3 it @1 siférmifeid geier [Option ID = 8272]

Correct Answer :-
® |Increased outdoor brightness during night time/ife] @ w9rr a6t s arer <iftt [Option ID = 8269]

4) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of ‘loss of night." We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

offa feu srerior ol eroyde uféu :

oNermaisii d vw P SRI R’IPRIA v dAfad go19r Yguvl AGIRIg SR off eell, wermdr ik Jorc® @1 srRa @ et aiffre gorer yguvr
arct oPRI 3 WM SR & 3R &3l YebI91 Yguvul bl re1eil e & yfer a3l Sirelr aifde of dact SRIP! Adel @ 1w 331 oo JIRI &2 38 3
dfes PSRRI &3 36IHST ol & YDI9I YgHUT DI dIcuRl Did JI@T goI9l - Il @ SlfolPRS Y A 3 Siics DicE d1el Ymbr9l - =Iazen o
TAYADAT ASDI UR IR dGlol D fe1u T crscl @ »U 3 Bkl 3 3R Az 331 3i€R I Ugol d DI Dol I ASRIAT Dl 3, 3IcT D DY GIDI A
af¥ydifft, ydluel, Yar scaife @ fore st yAlel @ Il a6 RI 3, RRIRY YbI9l YgHul &l Il 3cuodl 3l 3 31eerI6il 3 $¥aol ol fierar 3
o5 20 quif &6 safer d g e 3 aed arscl A g Jol arcdl Sy 9 ¢ - ¢ gfis 3Kt o1 3, Rl o1f Recll, Acieten, RIS, wotlcd iz
Saz gger i 1993 A 2013 & i "srcaffr gguvr digar” iy xdct o1 Brerch 3

At GiePT dIT Y191 - caazer A of dddl A D IR UR dfcds ug) - ufdril iz Hidt & Farea wR iR AR wiiarur uz it ¢
SIfolbR® Yorrd 31 3 Afe) B BiJer crscl o YR A 3R D 3R UG @ e fircral arar #@idt & gfy 2t 3 uig sad aea "Aafy - g’ b
AT Icool Bl 3 S ASDI Dl Issacidl P FAR TRI A YAoI BldI 3 dl 4 ollc 3MTol 3 Dfdols Bl 3 AR foIgT - SIPRUI ¢RI UR $ADT YHIa
asdl 3, ORI 331l AIGISIl d FARL U= il P US ADdl & dPll BT Ylusl 9la3il 3iiz dicl ol ot ganfia dear & yapror yguur A
Jafferes sifor Afeer Gt iz ufdril @ 8kt 3 @16 358 Goyyfdra @2 Sar 3 31k IoId Yulolol I 3R BelRaeU  3olhl SRR b1 YHIfAId Bl 3

Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below

DI YDI9I D AP IR b U ol A AR _______ UR Yferapel Y Usdl 3 :
A. ori J

B. forqg amy

C. G @ I

D. srciigen a Farrex



il fou s1u fyeseul 3 21 & Fa= goi ¢

[Question ID = 2069][Question Description = S2_qSNz_PG_GP20_Q49]
A and B only/d@act A siiz B [Option ID = 8273]

B and C only/dact B sfiz C [Option ID = 8274]

B and D only/daet B siiz D [Option ID = 8275]
C and D only/aaet C sfiiz D [Option ID = 8276]

A W N -

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 8273]

5) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of ‘loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

offc feu srerior ol exroyde uféu :

oNermalsii d v AP SRI RIPRIA v dad g1l Yguvl AlGIfIg SR off eell, wermdr iR Jorcs ol HRd @ il J@iffre ywIer yguur
arct oPRI 3 WM SR & 3R &3l YebI91 Yguvul bl eTeil e & yfer 3da 3l Sirell aifdu of dacl SRIPb! Adel D fo1u 331 oo JIRI &2 38 3
qafed PSRRI a3 36IHET 3t & Yap1or YgHuT ol drcuRl Bfcpl aI@T YmI9l - RIael @ SIfoIbR® JIIId A 3 SIdih Dicpl 9@ Y19l - RIazal bl
MAYABAT ASDI U2 IS dGIol o 1w Fée emsel & wu 3 Xl 3 3R Az 33l 3R 3 Ugol a B B! 3 ASRIAI Bl 3, BT D TO GBI 3
af¥ydifft, ydluel, yar s @ fore st yAlel @ Il a6 RI 3, R YbI9l YgHUl &bl AT IcUodl 3Icl 3 31erI6il 31 S¥ol bl fierar 3
o5 20 auif &I saf?r 3 g e 3 aed anscl A g Bol arcdl Sy 9 ¢ - ¢ gfis 3Kl o1 3, Rl o1f Recll, dciemen, RIS, wotled iz
Saz gger i 1993 A 2013 o & "srcaffres gguvr digar” gfy; ot o1 Grerch 3

Al GIePT ST Yab19l - Iazer A of ddcl A D IR U= dfeds ug) - ufdril 3iiz HId & Farea R iR AR wifarur Uz ff ¢
SIfolbR® Yorrd B 3 Afe) D1 BiJar crscl o YR A 3R D 3R Ugrs @ e fircral arar gt & gfy; 2t 3 uig saad Ted "Aafey - g’ bt
AT IcUcol Bicll 3 ST ASDI bl Issactdl DI AR TRI 3 JA9I Bl & dl 4 ofic 3ol d DISels 3kl 8 AR fOIgI - SIPRUI TRI UR 3D PRI
Usdl 3, ORI 3R AT d FARL U= il P US ADdl & dPll DI YSiuel a9l 3iiz dicl oI ot ganfaa w2ar & Yaoror Yguur A
Haifre sifor Afear Hict siiz ufdril ol il T a6 358 fEo9fdra w2 Sar & iz IoTd> Ysiolol Bl 37 BaIFaeU  Iolbl SIoIRIFRIT I YIIfdd dar &

The loss of night, as mentioned in the passage, will lead to
3Teri9l 3 fpu s1e Iecra @ SIGRIR A - olu A a=iI der ?

[Question ID = 2070][Question Description = S2_qSNz_PG_GP20_Q50]

1. More human productivity/sifére aimera 3euraar [Option ID = 8277]

2. Increase in education/fsren 3 gfg [Option ID = 8278]

3. The altered activities of nocturnal creatures/afe= Sfidi @ uf¥afefa figemasema [Option ID = 8279]
4. The well-being of human population/sirera Serizen @t weerur [Option ID = 8280]

Correct Answer :-
e More human productivity/asifér® #iera 3caigaar [Option ID = 8277]





